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Monday, July 14, 2014

--- On commencing at 9:39 a.m.

MS. HARE:  Good morning, please be seated.

So after a two-week break from the hearing we're sitting today, day 12 of OPG's application for payments for 2014 and '15, EB-2013-0321.  I am repeating this in case people have forgotten over the two weeks.
Procedural Matters:


There are a few procedural matters that we want to take care of first.  The first is the request for confidentiality of JX11.6.  The Panel has reviewed the material and does not require submissions.  We do believe that this material is confidential.

The second is, we would like to have an understanding of the dates that the other undertakings will be filed, particularly those that relate to panel 8, and particularly whether or not there will be requests for confidential treatment of those.

MR. KEIZER:  Maybe, Madam Chair, we can actually -- I can speak with OPG at the break and come back to you at the break in terms of that timing and whether there are any treatment associated with those undertakings.

MS. HARE:  Thank you.  And whether they would be filed before panel 8 begins.

MR. KEIZER:  Yes.  My sense is that would be their effort to do that, but I just need to confirm the timing on any --


MS. HARE:  That would be fine.  That would be fine.

And the third matter that we're going to deal with this morning is OPG's reply with respect to the confidentiality claim with respect to Exhibit D2-2-2, attachment 1, known as the Modus reports, and we will go in camera for that submission.

MR. KEIZER:  Fine, Madam Chair.  I am prepared to make those submissions now.

MS. HARE:  Before we do that, are there any other procedural matters that should be raised?  No?  Then we will go in camera.  Unless, Mr. Keizer, you don't need to go in camera to make your submission --


MR. KEIZER:  Well, I just, I want to be cautious about -- I am going to make my utmost to try to avoid going in camera, but to the extent that I have to stray into it or in the event that, to make a point, that we -- I need to, then we might have to, so maybe if we went in camera now at the outset, to the extent that I did not go into it, then we could make the transcript public after that point,
but -- is that fair, or is that...

I think that there are only a few -- two or three people in the room that are -- and I don't expect to be very long.  Like, I mean, I would hope to be done in --


MR. MILLAR:  It is also possible, Madam Chair, that to the extent the Panel has questions, those may require going into confidential materials and --


MS. HARE:  They will definitely require us going into camera, so the question is whether or not we start on air and then go in camera when appropriate, or does it make any difference?

MR. KEIZER:  I would think we just go --


MS. HARE:  In camera now?

MR. KEIZER:  Yes.  Rather than stopping and starting again.

MS. HARE:  All right.  Let's do that.

MR. KEIZER:  If that works.

MS. HARE:  Yes.

--- On commencing in camera at 9:45 a.m.

MS. HARE:  Just to confirm, everybody else remaining in the room is either with OPG or has signed the declaration of undertaking?  Sorry?  And Board Staff.  Okay.  Thank you.

Okay, Mr. Keizer.  Please proceed.
Submissions by Mr. Keizer:

Thank you, Madam Chair.  As I say, I will try to be brief, and, if I can, I will avoid, but I anticipate you may have questions which may stray into the information itself.

So as you noted, we made submissions -- or, sorry, made a filing, Exhibit D2-2-2, which had as attachment number 1 a series of reports which was prepared by Burns & McDonnell and Modus Strategic Solutions relating to certain assessments of the Darlington refurbishment project.  And in there, OPG made a series of redactions and has now sought confidential treatment in respect of that redacted information.

I guess at the outset I think from a contextual perspective I think it is always important to keep in mind that Darlington refurbishment project, as presented to the Board currently, is unusual to the extent that as you normally would see a project at times you would see a project completed and someone would be coming for purposes of rate base.

This is not, obviously, a completed project.  It is an evolving and changing project.  It is a massive project, a mega-project, which has many different parts, many moving parts, and things that are moving in a dynamic fashion.

In a way, you're actually seeing, I guess, this project in real time, as opposed to a 20-20 hindsight review.  And as a result some of the contractual arrangements and commercial arrangements are in place, some are yet to be in place, and some that are in place may still continue to evolve.

So -- and it is, you know, not unlike what we had indicated in our letter filed on March the 10th which ultimately led to your Procedural Order No. 4, that, you know, with the existing contractual arrangements that we have contingency amounts, point-estimate amounts, costs and other things, as well as, you know, risks and other aspects associated with the project can affect and alter or influence the contractual arrangements and other elements related to the project.

So it is in that vein that OPG is, you know, proceeding to seek relief under your confidentiality protocols for purposes of protecting the redacted information that is currently before you.

And in response to previous requests under the Darlington refurbishment project, the Board, you know, was very clear in its Procedural Order No. 4 that the Board will make provision for in camera examination of the details of the Darlington refurbishment project, including contracting strategies and costs of the project, and you also went on to state that the Board's finding on confidential treatment applies not just to the updated Darlington BCS but to all business-case summaries and the Darlington refurbishment contracting strategies and the redacted contingencies, efficiency gains, vendor references, and specific and aggregate costs therein.

So it is within that spirit that OPG considered the Modus materials, or the Modus reports, as they're referred to, and made various redactions in order to protect itself with respect to disclosure of the confidential information.

I don't propose, because there are a number of redactions to go through, the specific redactions, as I indicated my attempts to, obviously, one, stay on the public record, but at the same time I think it is more efficient to actually be able to group these redactions, and that's -- may be helpful in light of the fact that my friends from Schools Energy and Environmental Defence have also grouped these.  We would characterize them differently, and we would group them differently.

In particular, if I could take you through those groups.  The first really related to specific cost estimates and contingencies and forecasts or estimates relating to the project.  And that, I think, fits within Procedural Order No. 4.

The -- obviously, that information, especially related to contingency amounts or cost estimates or point estimates, can influence potential negotiated results.  There are still contracts which are yet to be completed, and there's still information that is influencing the commercial arrangements within the context of the project.

The second grouping is information related to the contracting strategy.  And contracting strategy, I think, in this case is related to the contractual arrangements where there have been a series of contracts entered into, potentially, with respect to the development phase or definition phase of this project, but there are still yet to be arrangements related to target pricing and other things with respect to the execution of this project, and there are other contract packages, for example, the balance of plant package, which is yet to be fully completed.

And within the context of the Modus reports, there are circumstances where there are lessons learned raised in respect of those contracting strategies or packages, and those lessons learned often indicate what OPG could or couldn't do differently.

But to the extent that the contracts are continuing to be ongoing, that the contractual relationships continue to be ongoing -- they're not completed -- or to the extent that the contracts are yet to be entered into, all of those lessons learned, although they may be seen as criticisms or analysis of risk, can feed into positions that a party would take within the context of the negotiations.  So -- which I think also is a way of -- I think the proper way to characterize the considerations of the lessons learned raised in the Modus report; not as, say, for example -- which I will speak about in a moment -- what the Environmental Defence has raised.

The third type of information that's redacted is in respect of the specific vendors of the Darlington refurbishment project, those that are currently carrying out the work related to it.

The Modus report is very direct about the actions of the vendors, what they could or could not or could have done differently.  And in this regard, obviously, we are in accord with SEC in terms of respect of that harm.  I mean, the contractual arrangements, as I've indicated, are ongoing.  They are -- because they're ongoing relationships, it can affect how vendors respond to carrying out and completing work.

They can carry out -- this is a third-party report.  This is not the statements of the contractors.  This is not the statements of OPG.  It is -- it can affect the contractors' willingness to continue to pursue certain aspects.  It may also affect the attitude of contractors in respect of contracts yet to be entered into, in terms of how they would assess the risk associated with the project or the public risk associated with the project.  And also it can lead to consideration of what third-party perceptions would be in -- taken out of context, which could affect the contractor's reputation within its area of business.

I think this is an area that, I think, fits within the latitude of a confidentiality protocol which highlights the aspect of protecting individuals or vendors within the context of their workplace or their marketplace.  And I think this fits within it.

The third, I think, or final area is that relating to a discussion where commentary relates to a combination of OPG and external contractors, what they were doing, and the fact that they could cause potential harm for individuals.  And in those circumstances -- which there are a few -- efforts were made to redact to the extent that it would protect the reputations of those individuals.

All of which, I think, fall within the protections that the confidentiality protocol would provide, or fall certainly within the context of your previous rulings with respect to Procedural Order No. 4.

So in my view, I take issue with what -- obviously with what Environmental Defence has said in their letter, which said that the redactions were simply made because they are embarrassing or negatively reflect on OPG or Darlington's refurbishment project.

Well -- and then Environmental Defence in their letter went through a series of redactions which they filed in confidence with the Board, indicating:  Well, here's examples of things where they're redacted but there is no good reason for it because they're simply done for embarrassment purposes or to avoid embarrassment.

But if you actually went through each one of these redactions in –- that's set out in Environmental Defence's letter, you would actually, I think -- and tie it to what is stated within the reports, you would see that there actually is good reason for, for example -- as an example, in working within the context of these redactions, why they should be continued to be redacted and protected.

So for example, in his first one in which he talks about certain elements relating to estimates and where that estimate came from, if you actually went to that footnoted reference, you would actually see that one party hasn't included, Environmental Defence hasn't included, is the beginning sentence of the paragraph, which makes direct reference to the principal contractor on -- in one of the work packages that is currently before the Darlington refurbishment project, which goes directly to the issue of protecting that vendor and that vendor's approach and commentary associated with that vendor in line with the third bucket of information which we had highlighted should be disclosed.

The same would go for his second redaction as well, where he talks about certain things relating to the scheduling issues.

And that would be the same with respect to the footnote redaction, number 3.

So likewise in terms of, you know, with respect to, for example, the contracting strategy and the protection of how these contracts should move forward and evolve, if you look at footnote number 4, it goes directly to how you should treat and what is currently going on in that contract, which could inform how you should deal with it in the next contract.

So to the extent that it could influence or affect those commercial relationships, it exists.


There's commentary -- I don't think this element is controversial, but effectively because there is elements of discussion about the risk register.  Well, the risk register is something which goes directly to the ultimate determination of the target price, and I think that was something that was discussed at our technical conference and it may actually come out in evidence before you in the next few days.  But that is an element that goes to a future contract, and that risk register and the elements associated with it go into that future negotiation of a target price.

Likewise if I go through each one, it would be the same -- same vein, the same ilk of rationale associated with each one.  Each one of these goes directly to an element of either the commercial relationships between the parties, the potential to be used in respect of future commercial relationships, or the reputational aspects associated with a vendor, which could reassess elements of risk within the context of this project or be impacted by the third-party perceptions in a form which may be taken out of context and adversely affect them, where they themselves are not an actual party to this proceeding, which is the real danger; they don't have the opportunity to speak for themselves in that regard.

So in my view, Environmental Defence has really, quite frankly, inappropriately and incorrectly characterized the nature of the redactions.

With respect to my friend Mr. Shepherd from SEC, as we say with respect to those redactions that go to the vendor and the vendor's actions and who they are and other elements, I think we're in agreement with respect to the nature of those redactions.

I think, though, that the criticism that he raises or questions he raises with respect to the other redactions, also obviously take issue with.  I think that the dollar numbers he raises, one, the details of the costs and schedule problems, well, the costs and schedule problems are elements with respect to risk.  They are elements that can influence the nature of contracts.  They can also affect the elements of relationship between the parties, both because it takes into account how you're going to renegotiate certain elements relating to schedule in the future, to the extent the contracts will again manifest themselves elsewhere; and the approaches that OPG would be taking with respect to that negotiation, insights could be gained.

And I think also the issue of criticisms associated with OPG, unfortunately these are not, you know -- these events don't manifest themselves in isolation, where -- it is a relationship between the parties, and the parties are executing that relationship through this project, through means by which of contract.

So to the extent that there are lessons learned associated with OPG, those lessons learned can go to the positions that they would take relative to their contractors and relative to any future arrangements that they would enter into.

So in my view, the redactions as we stated them should remain, and that they do fit within the appropriate classifications for purposes of confidential treatment.

Now, I know my friends have raised in their submissions one other aspect, which is the number of redactions, and that somehow this is over the top because of the number.  But I think you have to also think about it in terms of what the evidence is.

It is five reports that effectively deal with the same issues in every report.  Why?  Because effectively their job is to take a snapshot in time of this project, and there is a baseline report that they created in August of 2013, and they routinely look at different parts of that base line.  They take snapshots of what is going on.

So the players are the same.  The relationships are the same.  The numbers are the same classification or categories.  So when you do it for one report, you end up doing it for five reports.  And so five times the number of redactions effectively looks like there is a lot, but effectively they're the same in nature each time.  There is nothing new or additive to them.  They're effectively the same nature of redactions that you would have.

So I think that the issue of the number of redactions is a red herring for purposes of assessing whether or not these things should receive confidential treatment.

Subject to any questions, those are my submissions.

MS. HARE:  We do have some questions.  Ms. Long?

MS. LONG:  I would like to start by actually saying I find it quite difficult to review this type of material based on groupings of reasons for confidentiality, and I realize that that has been done to expedite matters.  But from a reading purpose it is more helpful to me if you were to actually go through these -- each of these redactions and articulate what your specific reason is.

Obviously, that is not the way the material was filed, but I think in future that is more helpful.  If I reviewed this material in some instances I had difficulty trying to distinguish which grouping the redaction would fall under.

But that being said, I guess, Mr. Keizer, I would like to better understand your reasoning with respect to comments related to internal OPG groups.  It seems to me that the language is pretty broad when we talk about a project team or we talk about management, and I am trying to understand how that would negatively impact individuals and how that fits within our practice direction.

MR. KEIZER:  I think that really probably with respect to the individuals it comes up in a couple of circumstances, particularly.  And I can try to find them in here if you want me to.

Effectively, there were -- the group in question is projects and modifications, which did various work.  There were -- was also individuals in question, I think, related to the senior vice-president, which was in charge of things.  There was also, I guess, a vice-president.  I'm not sure of his exact title, but also who was in charge of projects and modifications.

Those parties under their leadership progressed along a certain path, which Modus felt that that path was not the proper progression.  I think you will see from the technical conference that Modus has clarified what it means in terms of the language used in the report, but nevertheless the report itself is very direct and pointed in its wording.

Those individuals are no longer with OPG, and so the concern is, to the extent that the individual persons were identified, to the extent that someone were to take these reports out of context, that the concern was -- and the fact that those individuals are not testifying, they're not currently here, that they -- to the extent the information was taken out of context, it could cause harm to the extent that they are either in the workplace or in the marketplace, in terms of what they're doing.

So that was the -- that was the two principal concerns on the individual's level when you think about individuals.

MS. LONG:  But do you consider the project team to be a group of individuals?  I mean, I understand your point with respect to, I guess, certain named individuals.  But with respect to a large team?

MR. KEIZER:  I think only -- I think to the extent that the large team were carrying out certain aspects under the direction of those parties, I think that that could extend to it.  But I don't think all elements of the projects and modifications, activities, or things that they did or did not do have been excluded from these reports by way of redaction.

I think that there are still lots of very, as I should say, positive criticisms associated with what projects and modifications could have done or should have done differently.  But I think that OPG has tried to, and the elements that are particularly related to deal with those individuals, but also, there is another element here, which is that, you know, as I indicated earlier, lessons learned themselves can also be informed or inform other parties that you may meet in a commercial or contractual arrangement.

So to the extent that the lessons learned may raise risks or criticisms associated with what a party did, and the fact that OPG may be acting on those lessons learned, are also informative to the extent that a contractor on the other side then is able to understand or adjust or modify commercial relationships based upon that.

Now, if we want we can go into specific examples where we could potentially discuss that, but I think that would be the general nature of dealing with projects and modifications as a team or as an entity, and I think that was the spirit in which it was intended to do the redactions.

MS. LONG:  I would also like to get some more detail from you with respect to how you feel criticisms in this report would affect future contracting strategies.

It seems to me that most of the work is contracted to one contractor, and are you saying that it wouldn't have occurred to them that there may be reviews of their work throughout this project?

MR. KEIZER:  Well, I don't think that it wouldn't have occurred to them that there was project oversight.  I think there would always be -- it would always be proper to do project oversight, but I am not sure that it would have occurred to them that there would have been at this juncture project oversight as the contract is manifesting itself or as you are to enter into other elements of the contract, where you would be dealing with that before a public tribunal, where --


MS. LONG:  I mean, OPG is a rate-regulated entity, and obviously the questions that we have to answer are with respect to a balance between confidentiality, and, you know, you're asking us to review contracting strategy.  So to the extent that the public is entitled to know what is happening with contracting, I mean, we need to be very careful about redactions that aren't necessary.

And as I look at some of these redactions it seems to me that they may have been done in a way where less could have been redacted.

MR. KEIZER:  Well, I would think that in terms of their original intentions I understand the balance that you have to strike in terms of a public tribunal.  You are making the decision here with respect to something that affects the public interest, and that obviously is your paramount consideration.

But in effect, your confidentiality protections and guidelines are there to help you strike that balance, in terms of being able to reach a decision that is in the public interest to the extent possible, with at the same time not generating harm either as the project progresses or as the -- or in respect of an entity outside of this project.

And I think that goes to the element of what this project is.  If this was, for example, we're done, and we're here, you know, and we're now looking at what was completed, what was finished, I think anybody participating in this project would recognize that would be part of it.

But the fact is, we're not.  The fact is that this is continuing to move.  It is continuing to evolve.  The very nature of these documents are to be that snapshot in time, so that lessons learned, criticisms, can be taken on board and people can modify their behaviour.

This project is going to go on for a number of years.  We only have five reports.  By the time this thing could be finished we could have 100 reports.

And so what we see today may not be what we see, you know, two years from now or a year from now.  So is it fair to cast that contractor in that light today when it is an evolutionary process where aspects and attitudes change, relationships change, and other things change?  Is it also fair to cast them in that light today to the extent that, when other elements of this project still have contracts to be negotiated, the contractor says, I am being exposed to certain risks I otherwise hadn't contemplated.  How am I going to protect myself from those risks in future contractual relationships because of the manner in which I have been treated in public disclosure?  Would I build more contingency in?  Will I do other things that actually will change that relationship?

And people are very aware of that.  This is a high-profile proceeding, and to some extent we have to be aware of the nature of what this project is today.  We can't ignore what that is.


MS. LONG:  So my final question.  So I guess is that an example that you are pointing to us as contingency may -- contingency pricing may increase because of reputational risk for your major contractor?

MR. KEIZER:  Well, or someone could decide we're not going to want to take on a larger portion, or they may change the way in which they approach the project.


I can't predict what is in the mind of the contractor because -- but what I can say is that to take this out of context, to take it on an evolutionary process of we're at this stage, when it could be many stages into the future, when people's aspects and attitudes change, or their manner in which they carry out their work changes, or that they're going to negotiate something differently, then I am not sure that that is being fair in terms of that particular individual assessing their actions in isolation at that particular time.


And if I was sitting at a table as a contractor, I would take that aspect into consideration as I carry forward business, to the extent that reputational risk and other things matter, in terms of people carrying out their business.

And I think to the extent that we can assess the contracting strategies within the context of this proceeding, I think my view would be that it is possible to do so without public disclosure associated to the criticisms that are directed particularly to the vendors in this case, which are not, you know -- which are not parties to this case, which are not testifying within this case.


And it is actually, quite frankly -- we're assessing the contracting strategies generally, but if someone in the first quarter or second quarter or third quarter of a particular year does a certain thing, it doesn't necessarily mean that over the course of this project that in the 10th quarter they're going to continue to do it or that it will overall affect the prudency of the project at the end of the day.

MS. LONG:  Okay.  Those are my questions.  Thanks.


MS. HARE:  Thank you.  Ms. Duff?


MS. DUFF:  I am just looking at the issues list, the final issues list that was attached to Procedural Order No. 10.  So this evidence relates to -- I just want to be clear on what this evidence relates to in terms of the issues list, if you want to turn it up.


But I think it relates to 4.9, which talks about the test period in-service additions; 4.10, which talks about the test period capital expenditures, again related to Darlington refurbishment; 4.11 talks about the commercial and contracting strategies for Darlington refurbishment; and I don't know if it relates to 4.12 or not.


But of the three -- maybe you could answer that.

MR. KEIZER:  Well, the Modus reports were disclosed, I think, primarily as part of the implications for the commercial and contracting strategy.


Obviously D2-2-2 does talk about the in-service additions, because it does discuss the campus plan projects and relates to that and updates the status of those.

MS. DUFF:  In terms of issue No. 4.11, the commercial and contracting strategies, I am trying to remember, recollect, the addition of that issue on the issues list for this proceeding, whose proposal was that?

MR. KEIZER:  I think it was originally OPG's proposal.


MS. DUFF:  When you added that, did you anticipate the information or the evidence that you would have to file to support that?

MR. KEIZER:  At the time, the evidence that was put forward was in D2-2-1, and also the Concentric opinions with respect to the individual work packages, based upon the contracting approach.

MS. DUFF:  And it wasn't your anticipation at the time that you proposed to add this issue that you would be filing these Modus reports?

MR. KEIZER:  That was not the expectation, partly because at the time it was looked upon as being these were things that were progressing as a snapshot in time, that in effect they weren't inconsistent with the contracting strategy, and that the -- they weren't inconsistent with the evidence that was originally filed.

MS. DUFF:  So just to repeat what you said, you're not planning to file the Modus reports at any time, but at one --


MR. KEIZER:  Sorry, I thought your question was at the time we filed evidence in September of 2013.


MS. DUFF:  Correct.  And we proposed the issues list.  At that point, you were not planning to file the Modus reports?


MR. KEIZER:  That was not the expectation.


MS. DUFF:  The decision to file the Modus reports came when?  And what was your impetus?


MR. KEIZER:  Sorry?


MS. DUFF:  And what was your impetus for filing them?

MR. KEIZER:  Well, I think it actually came about as a result of the delivery of the fourth report.  At that time, the fourth report raised particular questions with respect to the campus plan, and the campus plan was held out as a bit of a pilot project with respect to where contracting strategies were going.


And so the fourth report, as you probably have noted, is a fairly pointed report, and since it went directly to the issue of the contracting strategy, particularly between these aspects that were underway that went with respect to contracting strategy, the decision was made that this thing, this report, had to be disclosed.  And the decision was made that it also, in order to provide appropriate context to all of the Modus reports, would have to be disclosed.


MS. DUFF:  In terms of oversight of your contracting strategies, the fact that these -- the Modus report provides, I guess, some of your oversight that is being provided to the nuclear oversight committee, that was never something you considered that you would want to file these reports?

MR. KEIZER:  Well, I think at the time it was partly because this continues to evolve.  I mean, one, it was -- the original evidence was about the approach and the fact that we were going to use a multi-prime approach with target pricing for particular work packages.  And the evidence was originally filed was that was the approach that was the contracting strategy, contracting and commercial strategy, to get -- to indicate that that is the approach we're going to pursue.


Through the course of time, these reports relate to -- one, they're not inconsistent with that approach, that the multi-prime approach and the issue of target pricing continued to be the approach that these reports had related to, and were consistent with that aspect of it.


The other element is that because things change, because things -- they are snapshots in time, is it reasonable to -- and they were looking at the progress of the strategy overall, that -- whether it was fair to actually, then -- to disclose these reports piecemeal.


When the fourth report occurred, based upon this, the campus plan projects, particularly the heavy water project and the auxiliary heating system project --


MS. DUFF:  That is the one in May?

MR. KEIZER:  That is the one in May.  But the decision was made that, well, this is directly and obviously on point.  They have assessed the strategy within the context of an actual project and the lessons learned associated with it.  This is something that -- the degree of relevance, whether we -- it needs to come forward before the Board.

MS. DUFF:  So when you were –- when the -- I think it was the nuclear oversight committee asked Modus to go back and respond to an update to that May report, and their response that was filed in June, June 20 -- could you tell me the date again, I'm sorry?


MR. KEIZER:  I believe it is 26th.


MS. DUFF:  Did you inform them that you were planning to file that as evidence in this proceeding?

MR. KEIZER:  The nuclear oversight committee made -- to go back and recollect from the technical conference, but the -- and the evidence we heard there, but the nuclear oversight committee was dealing directly with Modus with respect to the report, effectively -- as I recall the evidence given by Mr. Gould last week -- that there were two aspects to it.  One is the fact that there were new board members and there was a new chair for the nuclear oversight committee.  The report itself was very focussed.  It did a deep dive with respect to -- very different than the other reports, and the fact that it did a deep dive into particular projects.


The other reports gave a broad spectrum of review of the Darlington refurbishment project.  Number 4 gave a deep dive on specific aspects of a particular project.  To provide context to that, my understanding is the nuclear oversight committee instructed Mr. Gould to then prepare a supplementary report, to provide context in association with that.  At the same time having received the fourth report and had the decision made to disclose the fourth report, and the fact that the nuclear oversight committee was pursuing down a certain avenue to prepare a supplementary report, the decision was made that not only should the fourth and the three previous reports be filed, that the fifth report should also go in at the same time, for completeness.


MS. DUFF:  Thank you.  Those are my questions.

MS. HARE:  I have just a few questions.

Mr. Keizer, you started off your submission by stating that this project has not been completed.  It is in motion.  There are many pieces in motion.  It is evolving.


But the Board has many of those projects before it, particularly with leave-to-construct projects.  Why is this any different except for the magnitude of the dollars, that the fact the project has not been completed in itself is not unique in the Board examining contractor strategies or how the project is to be planned?


MR. KEIZER:  Well, oftentimes within the context of a leave-to-construct, for example, leave-to-construct for a high-voltage transmission line, that that application is brought to the Board in the course, prior to construction, because the construction of the line can't take place until leave is actually granted and certain environmental approvals are actually granted.


So oftentimes when the application is made in the context of a leave-to-construct, you may have routing consideration, landowner issues, that you have taken into account, and you may have other elements like cost estimates and forecasts with respect to what you intend to do, but you haven't actually executed on the contracts to the extent that you are constructing or that you are actually carrying out the activities associated.


In this case there are certain aspects of this that are under construction, the campus-plan projects, which is the elements of the in-service evidence that you have seen in this.  There is also a significant amount of things going into the definition phase.


So I think to some extent it is a little different, one, because of the magnitude of the project, and two, because oftentimes a leave-to-construct will take you to the point of development where they're awaiting determination as to whether they can proceed and go further on the next level.


Oftentimes when you come forward to a leave-to-construct the contracts themselves are not assessed.  What is assessed is the cost estimate and potentially the reasonable aspects of the cost estimate, always knowing that ultimately you're subject to a prudence review at the time you bring it in-service.


So I think there is an element that is different here, in the fact that we have a mishmash of projects that are under construction, those that are being pursued, some of which is under development, some contracts have not yet been executed, and other elements.


Oftentimes, even in a high-voltage transmission case, for example, the full design work of the transmission line may not have been completed, and you may not even have entered into your design and build contracts with contractors until such time as you actually have your leave-to-construct, because they all takes -- cost time and money to pursue, depending on your timing of the project, as to whether you have done an RFP in advance of your leave application or not.


MS. CHAPLIN:  I want to pursue something you said in response to a question from Ms. Long.  You said -- and I didn't write fast enough to get this exactly right, but I am pretty close -- to the extent that the lessons learned may raise risks or criticisms with what a party did, the contractors may be able to understand or adjust what they do.


Is that not a good thing?  I don't understand where that is a bad thing.


MR. KEIZER:  Well, I don't know -- I can't necessarily put a value on whether it is good or bad.  I think what I was trying to get to with respect to that element is, in a contractual process, particularly any contracts -- for example, there is commentary in the Modus reports related to the campus-plan projects and the fact that that may influence where the balance of plant projects go.


Two different types of projects.  Two different things.  The balance of plant projects are a particular work package. Those contracts are yet to be completed, although they are similar to each other, and to the extent that they're infrastructure type projects that, you know, support or address certain issues within the overriding project.


So to the extent that there are criticisms or lessons learned associated with how OPG should do something differently on the campus-plan project may mean that OPG will take a different negotiating position going forward on the balance of plant.


And so to the extent that it does take a different position -- which may be to the benefit of the ratepayers.  I can't assess at this stage -- it may not necessarily be able to pursue it to the extent that the other party's aware of it or to the extent that the negotiations are being influenced by that, and that was my point.


MS. HARE:  This is the part that I don't understand.  There will be aspects of the project still to be contracted out.  So would it not be of benefit to all potential contractors and then ultimately the ratepayer for those contractors to understand the lessons learned?


MR. KEIZER:  Well, I guess I could put it maybe by way of an example.  If I went to buy a house and I tried to buy my first house and I made a mistake in the way I negotiated it, but I decided to go buy a next house, and I said, By the way, I made a mistake in the previous house.  I just want to tell you about this so that the vendor itself could take advantage of the mistake that I previously made, I'm not sure that that would necessarily be good.


I mean, I think that ultimately what parties are trying to do here is move this project forward in an effective way, take the information they have gained, and to put that into play when they would actually negotiate or prepare contracts in the future.


MS. HARE:  Okay.  Lastly, I want to understand what you said about contingency risk and that that might increase.  Contingency risk, let's say it is 30 percent.  But they're not fixed-price contracts, are they?  So if I bid and I include 30 percent contingency but in fact my worst-case scenario doesn't occur, I don't get the 30 percent, do I?


MR. KEIZER:  You're now entering into a complicated area that we just spent two days on in the technical conference talking about the meaning of contingency and the use of contingency and what it means within the context of --


MS. HARE:  Well, what I am really trying to understand is, so what if the contingency risk increases the price.  If in fact it doesn't materialize you don't pay out for it, do you?


MR. KEIZER:  Well, to the extent that, for example, if I was going to develop a target price, and these are target-price contracts, so that above a certain target price, I think profits and overheads can get lost, and I am sure that Mr. Reiner from OPG could say it better when he gets on the witness stand, but to the extent that that can influence what I would negotiate the target price to be, because above that target price I can still have an adverse consequence where I could lose profits and overheads to the extent that I exceed the target price.  Even though I still might get paid for my costs, I won't get profit and overhead.


So it does influence with respect to target pricing, and as well, to the extent that one of the elements that is going to be key for the RFR, the re-tube and feeder replacement project, which is one of the -- 60 percent of these costs, and they have yet to develop the target pricing on the execution portion of that, is going to be a risk register, and so the risk registry will go into what the risks are, the elements of the risk, and that may itself deal with the elements of how you would negotiate the target price.


I think Mr. Reiner last week indicated that in evidence, that that's one of the elements that will help inform how to negotiate around that target price.


MS. HARE:  Okay.


--- On resuming public session at 10:27 a.m.


MS. HARE:  We are going to take our morning break now in the hope that we come back with some direction with respect to the confidentiality, because we do think it is important to have this settled before panel 8 begins.  So we will take a break until eleven o'clock.


--- Recess taken at 10:28 a.m.

--- On resuming at 11:31 a.m.

MS. HARE:   Please be seated.
DECISION:

MS. HARE:  We do apologize for the delay, but we did want to come back with a decision with respect to confidentiality of the document.


The Board does not accept the number of redactions proposed by OPG for attachment 1 of Exhibit D2-2-2.  The Board finds that OPG redacted information that properly should be on the public record.

As OPG did not specifically provide a rationale for each proposed redaction, and instead grouped the redactions, the Board is left with no alternative but to order OPG to file a revised redacted version by noon on Tuesday, July 15th, which reflects the following decision of the Board.


One:  Only items consistent with decision in Procedural Order No. 4, which deals with cost estimates, contingencies and forecasts are deemed confidential.

Two:  Information relating to contracting strategies and lessons learned is not confidential.

Three:  With respect to specific vendors or identifying information, the Board finds that only this information is confidential.

Four:  Commentary with respect to OPG internal management and its management of contractors is not confidential.  To the extent that the vendor name or identifying information is provided, the Board agrees to redactions that could lead to reputational risk of that contractor.


The Board expects OPG to provide a revised redacted version of attachment 1 with coding such that the Board can easily determine the information that will now be publicly available that was previously redacted.

Are there any questions?

MR. KEIZER:  Sorry, Madam Chair, just your last point when you said coding, so if something was --


MS. HARE:  We don't want to have to look, ourselves, at the new version and compare it to the old version to see what the changes are.


We want you to be able to identify for us easily --


MR. KEIZER:  What was previously redacted but is now unredacted?


MS. HARE:  Publicly available.


MR. KEIZER:  I see.  Okay.  Understood.

MS. HARE:  Anything else?

MR. KEIZER:  No, Madam Chair, not from me.


MS. HARE:  Thank you.


So we now resume with cross-examination of panel number 7.  And Mr. Shepherd, I believe you are cross-examining next?


MR. SHEPHERD:  Yes, thank you Madam Chair.


MS. HARE:  Just to let you know, I think you have two hours and 10 minutes.


MR. SHEPHERD:  Yes.


MS. HARE:  Correct?

MR. SHEPHERD:  I actually have about 88 hours of cross, so I am just going to stop at two hours and 10 minutes, wherever I am.


MS. HARE:  All right.  And you will -- you will first stop at 1:00 for our lunch break.

MR. SHEPHERD:  Oh, okay.  Do I have to?

MS. HARE:  Yes.


MR. SHEPHERD:  Okay.  Madam Chair, we have prepared a second volume of our compendium for panel 7.  We had prepared a first volume for the stuff we did before the break.  We now have a second volume, which I think you have a copy of.


MS. HARE:  Do we need volume 1 as well?

MR. SHEPHERD:  You will not need volume 1, no.


MR. MILLAR:  Madam Chair, that will be Exhibit K12.1, and that is volume 2 of the SEC compendium for panel 7.
EXHIBIT NO. K12.1:  VOLUME 2 OF SEC CROSS-EXAMINATION COMPENDIUM FOR PANEL 7.


MR. SHEPHERD:  The other thing, Madam Chair, that you should have in front of you is Undertaking J11.11, which was just filed this morning, and OPG has kindly made sure there are hard copies available because they knew we had to ask questions about it.  So I am, in fact, going to start with that.


MS. HARE:  Mr. Shepherd, I would remind you that this morning the Board -- no.  Sorry.  I'm reminding myself of nothing.


[Laughter]
ONTARIO POWER GENERATION - PANEL 7, resumed

John Mauti, Previously Affirmed

Andrew Barrett, Previously Affirmed

Alex Kogan, Previously Affirmed
Cross-Examination by Mr. Shepherd:


MR. SHEPHERD:  Okay.  So I want to start, witnesses, with questions about Undertaking J11.11.  I just want to make sure I understand the position that OPG is taking.  You will recall that we discussed this on -- before the break, and I wanted to be very precise.


If you see on line 25 of that response, it says, "The reference section..."  Now, this is the section that says the Board has to accept the accounting decisions of OPG for the newly regulated stuff prior to it being regulated, right?

MR. BARRETT:  Yes, that's correct.

MR. SHEPHERD:  Okay.
"The reference section requires the OEB to accept the decisions that took place in the period prior to regulation, to the extent that their impact is reflected in the asset and liability values presented in OPG's 2013 audited consolidated financial statements."

End quote.


Now, here is what I want to make sure I understand.  Your board of directors decided or approved the use of the accrual method for pensions up until the end of 2013.  If this Board determined, going forward, to switch to the cash method, that's okay under the reference section, right?  They can't go back and change the past, but they can change the accounting method going forward; that's consistent with your interpretation, right?

[Witness panel confers]

MR. BARRETT:  Just a moment, please.

[Witness panel confers]


MR. BARRETT:  Sorry for the delay, sir.  Yes, we would agree that going forward, the Board has latitude to make changes in methodology.  Of course that would be subject to dealing with any transitional issues that may be appropriate in making that change.

MR. SHEPHERD:  Yes, of course.  Okay.  And so a related question.


Your board of directors and your management has used the accrual method for taxes up until the end of 2013 for accounting purposes.  But this Board is not bound by that, and in fact can use the taxes payable method going forward for -- as it normally does, for regulatory purposes, right?  Same principle?

MR. BARRETT:  Yes.  I think I agree that going forward, the Board has latitude to make methodological changes, again subject to respecting the change of the regulation and dealing with any appropriate transition issues.


MR. SHEPHERD:  And you have a deferred tax liability for the newly regulated facilities, hydroelectric facilities.  The Board has to accept that you have that liability, but the Board can determine how, if at all, it determines you should recover that from ratepayers, right?  It has freedom to do that, going forward?

MR. BARRETT:  Maybe I will ask Mr. Kogan to speak to that.

MR. KOGAN:  I think, in respect of that issue, we've actually provided the -- that position on the second page of this undertaking, which is starting at line 9.  And basically what we're saying at line starting 14, is that, I quote:

"In other words, the reference section requires the OEB to accept that past income tax deductions, for example CCA, giving rise to timing differences have been used up, and reducing OPG's pre-regulation taxable income and are not available to reduce income taxes included in the revenue requirement going forward."


End quote.

MR. SHEPHERD:  Okay.  I am not sure -- I am trying to connect that to my question.


What I am trying to get at is you have a deferred tax liability of, let's say, $300 million for the newly regulated facilities.  That's a liability you already have prior to regulation, right?

MR. KOGAN:  That is a liability recorded in accordance with US GAAP in our financial statements.


MR. SHEPHERD:  So the Board can make a determination that you can't recover that liability from ratepayers because you've already expensed those amounts, right?  They can make that determination?  It is free to do so?


MR. BARRETT:  Excuse us.

[Witness panel confers]


MR. KOGAN:  No.  We believe the Board cannot do that, and that that would be contrary to the intent of the regulation, in that it would be reaching back and saying, effectively:  I'm going to bring forward the benefit of tax deductions that have already been used up in the past.

MR. SHEPHERD:  Well, then help me with this.  The Board could determine to go to the accrual method for these -- for taxes for these facilities, right?  You have said that they have freedom to do that.


MR. KOGAN:  Just to repeat back, does the Board have freedom to adopt the future deferred tax accounting?  I understand that may be uncommon, but, yes, we have said that that's -- the Board is free to do that.


MR. SHEPHERD:  And then if the Board did that then you wouldn't collect the deferred tax liability from the ratepayers, would you?  That would be the effect.


MR. BARRETT:  I think that is where you rub up against the requirements of the regulation.  So again, you would have to respect the requirements of the regulation to keep us whole and deal with any transitional matters that may be appropriate, depending upon the change that you were making.

MR. SHEPHERD:  Oh, thank you.  The rest of it I think is for argument.  I just wanted to make sure we're clear on what the positions are going in.


I wonder if you could turn to Exhibit K12.1.  This is the compendium we have just filed.  And -- oh, I need to just find my questions.  And I want to start with page 2 of that, and page 2 is your response to J11.3, and this is an -- this is a revised version of your reconciliation of your 2012 tax return, right?


MR. KOGAN:  Yes, it is.


MR. SHEPHERD:  And the -- obviously, we don't care about what happened.  You care about what happened in 2012, but this Board doesn't.  But this is conceptually indicative of what you expect to happen in 2014 and 2015 as well.  The numbers will be different, but the concepts will be the same, right?


MR. KOGAN:  The concepts of how you would reconcile from the actual results of OPG to the regulatory, yes, it would be the same approach.


MR. SHEPHERD:  Okay.  So --


MR. KOGAN:  Subject to the inclusion, of course, of the newly-regulated now in the regulated side of the business.  Here they're still removed as part of unregulated.


MR. SHEPHERD:  Understood, but that is going to change the numbers, but it is not going to change conceptually what you're doing here, right?


MR. KOGAN:  That's right.  The approach would be the same.


MR. SHEPHERD:  Yes, okay.  So let me just ask a couple questions about this to make sure I understand it.  If you look at line 1, in column 5 you see 574.8 million.  That is accounting income for regulated, right?


MR. KOGAN:  Yes.  Where regulated, in that column, still includes Bruce lease, because this is part of the financial reporting segments that are labelled regulated.


MR. SHEPHERD:  Okay.  And so the accounting income, 574.8, is actually about 738 million less a loss on the Bruce lease for accounting purposes of 164, right?  The 573 is a net.


MR. KOGAN:  Yes.  The 573 is a net.  I would point out that the Bruce lease number that you are referring to, which is at column 6, line 1 --


MR. SHEPHERD:  Yes.


MR. KOGAN:  -- is prior to the effect of Bruce lease net revenue variance account additions.  So the impact of that is actually reflected in column 7.


MR. SHEPHERD:  Okay.  Well, that's interesting.  So that's -- my next question was going to be, what's the half a billion dollars of income in column 7?


MR. KOGAN:  And there are three main items that are making that up.  One, as I mentioned, are the Bruce lease variance account additions, and you can see the number that, at line 12, column 7, about 330 million.  So while here it shows up as a tax adjustment, it is also something that is obviously in the first line, which is EBT.


MR. SHEPHERD:  Okay.


MR. KOGAN:  That is effectively offsetting the losses on Bruce that are in column 6.


MR. SHEPHERD:  Because basically, if you lose money on Bruce you get to collect it from the ratepayers.  So from a -- for the point of view of reconciling your taxes you have to take that into account.  Right?


MR. KOGAN:  We do recognize the amount that, in this case, is an asset, regulatory asset, collectible through the variance account as income, yes, we do.


MR. SHEPHERD:  Okay.  And the loss on Bruce was 164, but the amount you can collect from the ratepayers is 333?  Can you just give me the sort of high-level explanation for why they are different?  I know there is a detailed calculation.  I just want to --


MR. KOGAN:  The $330 million is the variance between, at a high level, between amounts that are in rates from EB- 2010 and what's actually happened.  So the amount that is in rates in EB-2010 isn't -- is zero Bruce income.  It is some positive number.  So the difference between that number and the loss of 164 --


MR. SHEPHERD:  Sorry.  If we did the math it is sort of like 170 million positive in rates and 164 loss, gets you 333.8.  Right?  Roughly.


MR. KOGAN:  Very roughly, given that also the first line is a pre-tax number.  But conceptually you are there.


MR. SHEPHERD:  Okay.  And what else is in that 543?


MR. KOGAN:  The second item there is the net difference between segregated fund earnings and accretion expense for the prescribed facilities.  Those don't enter the regulatory EBT and regulatory taxes, because that is not the method -- they're not included as part of the methodology approved by the Board for the nuclear liabilities, for the prescribed facilities.


MR. SHEPHERD:  Okay.  How much is that?  Is that in here somewhere?


MR. KOGAN:  I can get you a number.


MR. SHEPHERD:  Is that the difference between the 458 and the 355?


MR. KOGAN:  At a very high level it is part of that difference, just that 458 also has the variable expenses in it, not just the accretion expense and the variable expenses don't get removed.  So --


MR. SHEPHERD:  So what you're saying is I am not going to find a simple answer to this.  There is no simple answer.  It is complicated.


MR. KOGAN:  I wouldn't say it is complicated.  I think there are three main reasons, one being the Bruce variance account, two being this difference of segregated fund earnings and accretion, and three, which I should mention, is -- probably'd be the amount of interest, actual interest, versus deemed interest, whereas deemed interest would be a higher number.


MR. SHEPHERD:  And that's because for regulatory purposes you are treating -- treat it as having an interest cost that is highly higher than your actual interest cost because has working capital and things like that in rate base, right?


MR. KOGAN:  Basically it would be the difference between your actual and deemed capital structure.


MR. SHEPHERD:  Yes, okay.  Is that number in here somewhere, that difference in interest?


MR. KOGAN:  No, I don't think that number is spelled out anywhere.


MR. SHEPHERD:  Okay.  Now, the -- in this other adjustments column, you are reducing accounting income by $543 million, which looks good to me, but then by the time you get down to the bottom, the taxable income actually only reduces by $5 million, and the reason is because your adds for tax purposes, the things you are not allowed to deduct for tax purposes in that column 7, are much less than the deductions, right?


MR. KOGAN:  I think a big reason is that the items that we have discussed, the three items -- and I won't restate them -- again, the first two, which is not the deemed-interest one, they actually have corresponding adjustments.


So, for example, as I mentioned at line 12 you see the Bruce variance account removed.  So, yes, it is in the 500, but then it comes out, and similarly for the seg-fund earnings and accretion, as you've mentioned.  So some of these big numbers are negated when you get to taxable income.


MR. SHEPHERD:  So it is in the 543 because of a regulatory decision that it shouldn't be included in your income, but it's then adjusted out because the tax rules also require you to back it out.  Right?  And so it offsets --


MR. KOGAN:  If you have to adjust something out of earnings before tax, you would adjust correspondingly out of the adjustments to that number.


MR. SHEPHERD:  All right.  So then let me just ask you a couple of questions about the Bruce lease column, because you have a number there which I don't understand, which is on line 16, a $249 million addition to taxable income.  And I don't know what that is.


MR. KOGAN:  That's the derivative.  So there was a substantial increase in the fair value of the derivative liability at the end of 2012, as you may recall from EB-2012, due to the change in the lives of the Bruce B stations.  And so that was a big hit to the -- to line 1, probably the main reason that is actually a loss.


MR. SHEPHERD:  So you treat that as an expense, because you have to value it and expense it.  But the tax department doesn't allow you to deduct that.

MR. KOGAN:  In accordance with tax rules, the change in the fair value of the derivative are not deductible or taxable.


MR. SHEPHERD:  So that 164 isn't really 164 for tax purposes; it is really a profit?  That is why you're seeing that adjustment?

MR. KOGAN:  It is the accounting earnings, which then adjust by the appropriate adjustments to get the taxable income amount.

MR. SHEPHERD:  Wonderful.  Okay.  That was the easy stuff.  I am not going to ask you any more questions about that.  Let's go to pensions and other post-employment benefits.  Start with page 3 of our materials, if you could.  This is an excerpt from your first impact statement.  It just happens to be a convenient place to put -- to get some numbers on the table.


It says at the top line here in chart 3 that your total of pension and other post-employment benefits expenses in your original filing was 1 billion, 354.7 million, right?


MR. KOGAN:  That's right.


MR. SHEPHERD:  And then on the next page, you see there is an excerpt from your income tax impact, and the reason -- just at a high level, the amount that you expense for accounting purposes is not what you are allowed to expense for tax purposes, right?  For tax purposes, you are allowed to expense your contributions, not your accrual amount, right?

MR. KOGAN:  Basically, yes.

MR. SHEPHERD:  Okay.  So you have to -- if you have an expense of a billion 354, and you only have in this -- originally you had 784 million of contributions, the difference between those two is additional taxable income, right?

MR. KOGAN:  Sorry, just that second number that you mentioned, 700 -- I am just trying to find that number.

MR. SHEPHERD:  That is 578.2 plus 206.2, on page 4 of our materials, in your chart 4.  This is the original filing, right?


MR. KOGAN:  Yes, that is the original filing.  And yes, you would add back for tax purposes the accounting costs, and then you would deduct the cash amounts that you have pointed out.


MR. SHEPHERD:  So the difference between the two, between the 1,354.7 and the 784.4, which is the cash payments, that difference by my calculation is 570.3.  Will you accept that, subject to check?


MR. KOGAN:  Yes.


MR. SHEPHERD:  If you calculate the tax on that the way you calculate the tax, which is basically a 25 percent tax bill, and then you gross it up, that is $190.1 million; will you accept that, subject to check?

MR. KOGAN:  Yes.  And just to be clear, this is -- these amounts are to recover the taxes that we would pay upon the receipt of the revenues that reimburse for these costs.


MR. SHEPHERD:  Absolutely.  I am not saying you're doing anything wrong; I am just trying to understand the impacts on the ratepayers.


So the total that you sought to collect in rates in your original application was the 1,354.7, plus the 190.1, for a total of 1 billion 544.8.  That is what the pension and other post-employment benefit costs were in rates, right?

MR. KOGAN:  These are the amounts in our prefiled evidence, yes.


MR. SHEPHERD:  Yeah.  Okay.  We're going to get to the changes over time, but I just wanted to make sure we understand the concept.


Now, we have included in our materials an excerpt from the last decision, because it conveniently tells us some numbers.  The one number is -- on page 8 of our materials, is that what was included in your rates the last time you had a cost of service application was 633 million over two years, right?  Plus the tax hit?

MR. KOGAN:  Those were the amounts for that test period approved in the decision, yes.


MR. SHEPHERD:  Will you accept, subject to check, that the tax, the grossed-up tax on that 633, was actually 23 million?  Just how it worked out?  It is a...


MR. KOGAN:  I will accept it subject to check.  I will check at the break.


MR. SHEPHERD:  So what that means then –- and here is what I'm trying to get at.  You filed your application.  The amount you wanted to collect from ratepayers is 1 billion-544.8.  You had in rates already 656, which is 633 plus 23.  So in your original application, you had a revenue requirement shortfall, a deficiency, of 889 million, total, arising out of pension and other post-employment benefits; is that a fair conclusion?

[Witness panel confers]


MR. KOGAN:  Subject to check, it is in that ballpark, yes.


MR. SHEPHERD:  Some of that -- there is a whole lot of different impacts on that and we're going to talk about some of the impacts in a minute, the factors that caused that to happen.  But a big chunk of it as a result of declining discount rates, right?

MR. KOGAN:  That would be by far the most predominant factor, yes.


MR. SHEPHERD:  Okay.  Then the other factor is that you had to change how you accounted for pension and other post-employment benefits because of US GAAP, right?

MR. KOGAN:  No.  I wouldn't agree with that.

MR. SHEPHERD:  Okay.  Well, there's a number of places where you make the comment that the 2010 data that you filed is Canadian GAAP and so it is different from US GAAP.  Is it not a material difference?

MR. KOGAN:  It is not a material difference in the grand scheme of things that you're talking about here.  You're talking about only the long-term disability plan, which forms a pretty small component of the post-employment benefit costs.


MR. SHEPHERD:  So really this is about discount rates.  And now the discount rates did not go down in any way because of the change in accounting method, right?  You're still using the same method of determining the discount rates, right?

[Witness panel confers]


MR. KOGAN:  Yeah.  Basically, yes.


MR. SHEPHERD:  Okay.  So this is really mostly about discount rates.  We're going to talk about mortality in a minute too, because that does have an impact later, right?


But in your first filing it had no impact?  It was all discount rates?


MR. KOGAN:  That's right.  Even between those two impacts, it is still going to be the discount rates that are going to be by far the bigger driver.


MR. SHEPHERD:  All right.  So then in the application, you filed a report from Aon Hewitt dated September 2013.  And on pages 6 and 7 of our materials, we have included two schedules from that report.

These schedules -- tell me whether this is right -- they're a summary of the conclusions of Aon Hewitt with respect to your assets, liabilities and costs for pensions and unemployment -- post-employment benefits for '14 and '15, right?

MR. KOGAN:  These are the forecast numbers that are calculated by the actuaries for the test period at the time.

MR. SHEPHERD:  All right.  So, I mean, obviously there have been a bunch of changes to these, and we're going to go through their second and third reports and how that fits in, but I just want to make sure we understand what these schedules are, because these are standard schedules in every report, right?

MR. KOGAN:  Basically, they are, yes, more or less standard.


MR. SHEPHERD:  Yes.  And so you have four columns.  You have RPP, SPP, OPRB and LTD.


And I assume those are your registered pension plans, your supplementary pension plan, which is not funded, your other post-retirement benefits, which is what we have been calling "other post-employment benefits," and your long-term disability, right?

MR. KOGAN:  Yes.  And what we term in nomenclature "other post-employment benefits" is basically other post-retirement benefits plus long-term disability plans.

MR. SHEPHERD:  So those two columns are the other post-employment benefits component, and the first two columns, then, are the pensions component?

MR. KOGAN:  Actually, I am just thinking.  In our evidence, we may also be lumping the supplementary pension plan and calling that OPEB, and that might be footnoted in various places, just because, like I said, it is not funded.


So when we say "pension" we may be only talking about the registered pension plan in parts of our evidence.  So I am just not sure how that distinction is made.

MR. SHEPHERD:  Okay.


MR. KOGAN:  In all places.


MR. SHEPHERD:  We will see if we stumble across that problem later when we're trying to reconcile some of these numbers.


MR. KOGAN:  Sure.


MR. SHEPHERD:  So this report is not for the balances and the expenses costs just for the prescribed facilities, right?  This is for all of OPG?

MR. KOGAN:  This is all of OPG, yes.


MR. SHEPHERD:  So the numbers here should actually be higher?  Generally speaking, they should be higher than the numbers in your application, because the numbers in your application will be a subset, right?

MR. KOGAN:  Generally, yes.


MR. SHEPHERD:  Yeah, okay.  So the first section here is -- and I will just look at the RPP column, because that is the easiest and it has everything in it.


The projected benefit obligation, $14 billion, that's the net present value of your future obligations to pay pensions, right?


MR. KOGAN:  I would say it is a present value figure, but it is for our obligations incurred to date.  It is not future obligations, obligation we have right now.


MR. SHEPHERD:  Okay.  But it's on a going -- this is all on a going-concern basis, so it is assuming that you continue.  That is how much of the obligation you have incurred to date.


MR. KOGAN:  That is the obligation that we have incurred to date in accordance with generally accepted accounting principles.


MR. SHEPHERD:  Then the fair value of the plan assets, now, this is as of September, so this is an estimate as of the year end, right?  Is 10.8 billion.  And that is based on an actual forecasted value using an assumption that you will earn 6.25 percent from September to December, right?


MR. KOGAN:  It is right that it is a forecast value and it is assuming that we earn...


[Witness panel confers.]

MR. KOGAN:  Sorry.  Let me take that back.


The information in our pre-filed evidence with respect to pensions was developed on the basis of the actual information at the end of year 2012.  So the numbers that are the started jumping-off point, which is the beginning of '13 numbers, are going to be basically actual numbers.


And then to get to the starting point for '14, which is I think what you're looking at here, you would of course be assuming a full year's worth of earnings at 6.25 percent and forecast contributions and so on.


MR. SHEPHERD:  So they then just -- they went to your 2012 audited financial statements, got the value of the fund in those statements, which is going to be the same number for both, right, and they just added 6.25 percent to get to the end of the year.  Is that fair?


MR. KOGAN:  So, yes, they jumped off the actual values at the end of 2012, assumed a return of 6.25, you know, factoring in, of course, the impact of projected contributions and benefit payments during the year, add some timing assumption, but basically, yes.


MR. SHEPHERD:  Okay.  Now, they then have a number here, 3.2 billion, which is the net liability that should be recognized for accounting purposes, right?  That is the -- your unfunded pension liability.  Right?


MR. KOGAN:  That's right.  That was the projected unfunded pension number.


MR. SHEPHERD:  Just before we go on, you see across to the other three segments, they also have unfunded liabilities, but those are basically the entire amount of the obligation because there is no funding.  Those are unfunded liabilities by nature, right?


MR. KOGAN:  That's right.  They are unfunded by nature.


MR. SHEPHERD:  The projected benefit obligation, that is a number that is developed using a whole lot of assumptions about discount rates, mortality, wage increases, in some cases health-cost increases, inflation, all those sorts of things, right?


MR. KOGAN:  Yes.


MR. SHEPHERD:  And much of the changes in that obligation come about because you change the assumptions, because we're going to talk about the assumptions in detail in a minute.


MR. KOGAN:  Changes in assumptions that are driven by changes in conditions, estimates, do flow into that number.  Just, as I said, you change assumptions.  I just want to make sure that it's not a --


MR. SHEPHERD:  Yeah, no, I'm not suggesting you are making anything up, but the assumptions drive the number, right?


MR. KOGAN:  They certainly have a big impact on the number.


MR. SHEPHERD:  Okay.  You see the line here, "unrecognized net actuarial loss", which is for the pension plan, it is much higher than the net liability.  What is that?


MR. KOGAN:  So that is the amount that is reflected in the unfunded status that we just discussed, that hasn't yet flown through the costs.  So this is the amount that is still parked, as we discussed, I guess, two weeks ago now, in other comprehensive income.  In this case it is other comprehensive loss.  And it results from differences between assumed and actual assumptions, you know, experience gains and losses.  This is all the stuff that is going to get ultimately amortized in the future into costs.


MR. SHEPHERD:  Okay.  So which is your unfunded liability?  Is it the 3.2 billion or is it the 4.3 billion?  Which is your actual unfunded liability?


MR. KOGAN:  3.2 billion is the unfunded liability in accordance with generally accepted accounting principles, but of that, 4.2 has not yet been crystallized through the amortization component of the costs.


MR. SHEPHERD:  Okay.  I don't understand that.  None of the unfunded liability has been crystallized by funding, right?  That is why it is unfunded.


MR. KOGAN:  It hasn't been crystallized by funding, but some of it has already flown through basically the income statement, right, and this stuff basically still hasn't flown through the income statement.


MR. SHEPHERD:  Okay.  I am quite a bit confused here.  You have an obligation, and you have assets to cover them, and so you have an amount, $3.2 billion, that is your shortfall in funding.  Then you have this other amount, $4.3 billion, that you have already put into your other comprehensive income, right?


MR. KOGAN:  Yes, that is sitting in other comprehensive income or loss.


MR. SHEPHERD:  So why is that bigger than the liability?  Or maybe they're just different concepts.  I am trying to reconcile the two.  If they're just completely different concepts, that would help.


MR. KOGAN:  Would it help if we were still under Canadian GAAP where we were not required -- or to recognize the actual funded status on the books, you would actually have in this case an asset, which would be the difference between those two numbers.  So it would be an asset of, let's say, a billion sitting on the books.  U.S. GAAP comes along and says, You know what?  You have to put in your full unfunded amount.

So all this stuff that you have been keeping off book that hasn't yet flown through expense -- so you put that on as additional liabilities.  The other side of that adjustment is other comprehensive loss, though, not income statement.  And over time it recycles from other comprehensive loss to the income statement.


MR. SHEPHERD:  Ah.  Ah.  So U.S. GAAP says your real unfunded liability is 4.3 billion, but under the normal rules you are only accounting for 3.2.  You can't treat that 1. -- you can't ignore that 1.1.  It has to be in your other comprehensive income.


MR. KOGAN:  It is actually -- 4.2 is the number, because they're different signs.


MR. SHEPHERD:  Well, it is 4.27, so I said 4.3.


MR. KOGAN:  Sorry, yes 4.3.


MR. SHEPHERD:  The difference is 1.1 billion, right?


MR. KOGAN:  But that would be actually an asset amount in -- if you are under the previous GAAP.  So it is like saying you would have an asset of a billion dollars less an amortized loss of 4 billion gets you to a full unfunded status of 3 billion.


MR. SHEPHERD:  Could we think of that net -- that unrecognized net actuarial loss as conceptually similar to an asset retirement cost that you are going to amortize over time?  Is that fair?  Is the idea the same?


[Witness panel confers.]

MR. MAUTI:  I am not sure if it would quite work the same.  You would get an actuarial impact anytime you are sort of updating and doing an accounting valuation, you would get sort of another change depending on the change in circumstance.  Again, primarily things like discount rates that would have changed would generate another.


So I am not sure you would sort of view it the same way, whereas an asset retirement cost sort of gets set up as part of the asset and is depreciated, so...  Never really tried to correlate as to whether they would be the same, but --


MR. SHEPHERD:  But that amount, that $4.3 billion, is in fact being amortized annually, right?


MR. KOGAN:  The amortization annually is based off of that amount, or whatever the actual amount is of the unamortized subject to the various smoothing mechanisms under GAAP.  But in short, it is slowly flowing through.


MR. SHEPHERD:  If we look down to the bottom, amortization of net gain loss, that 221 million, that is recovering in -- on the income statement, the amount of that 4.3 billion, right?  Or charging on the income statement, that $4.3 billion?  Is that right?

MR. KOGAN:  I think, yeah, basically you could look at it that way, yes.


MR. SHEPHERD:  So now if we go to the annual cost -- and I am just going to look at pensions for now, but I am -- obviously the same concepts apply elsewhere, or most of them.


You have the current service costs of 296 million, and that's how much your obligation to your current employees has accrued over the year, net of what you paid out over the year, right?

MR. KOGAN:  No.  It's not net of what you paid out.  This is the cost.  So it is the amount that has accrued.  That is the company's portion.

MR. SHEPHERD:  So the employees that are working for you in 2014 are earning sort of rights to future pensions, and the amount they earn in 2014, the net present value, that is what that 295.5 is, right?

MR. KOGAN:  That is the accounting concept, yes.


MR. SHEPHERD:  Then interest costs, tell me what that is.

MR. KOGAN:  So that is the growth in the liability due to the passage of time, basically.

MR. SHEPHERD:  So it is like accretion expense?  Similar?

MR. KOGAN:  Yeah, it's similar.


MR. SHEPHERD:  Okay.  And that it is at the discount rate, right?

MR. KOGAN:  That is at the discount rate, yes.


MR. SHEPHERD:  So if you just take the value of the plan assets and you applied the discount rate, you should, generally speaking, get that number, right?

MR. KOGAN:  Not the plan assets; the benefit obligation number.

MR. SHEPHERD:  Oh, sorry.  That's right.  The benefit obligation, the -- okay.


So on this, I think it is 4.3 is what you're using, right?  4.3 percent, in this particular one?


I think you went from 4.3 to 4.7 to 4.9?


MR. KOGAN:  That's right.  It was the discount, it was 4.3 percent that was underlying here.


MR. SHEPHERD:  All right.  Good.


Then 674 is the expected return on plan assets.  That's taking the fair value of the plan assets and applying the 6.25 percent assumed return, right?  Roughly?

MR. KOGAN:  Not quite.  It is using not the market value.  It is using a market-related value, which is one of the smoothing mechanisms.  So...


MR. SHEPHERD:  But it is close enough?  For our purposes...


MR. KOGAN:  Conceptually, I think if you're trying to understand, yes, but if you try the math and it doesn't work, I just want to make sure that --


MR. SHEPHERD:  I'm not going to try the math, I promise.


Then the last part is the amortization of the net gain or loss, and that is -- from your past shortfalls, you have to collect that over time?  It is like depreciation of an asset, right?  It works the same way?

MR. KOGAN:  It is a result of the impact of a change in current conditions on obligations and assets that will flow through expense over time.


MR. SHEPHERD:  All right.  Now, finally, Aon Hewitt has given you another number, which is the number of your actual contributions to the pension plan for 2014, which is $268 million.

And that amount, is that -- I didn't see any calculation in the report on that, or any assumptions about that.  Can you sort of give us a brief overview?

MR. KOGAN:  So in that report -- which originally is found at Exhibit F4-3-1, attachment 2 -- at page 5 there's a little bit of discussion of where these numbers come from.  And it states that these contributions were estimated based on the projected funded status of the plan as of January 1, 2014, and that the funding assumptions used are the same that are reflected in the January 1, 2011 funding valuation, updated for a couple of things that are indicated there.

MR. SHEPHERD:  Well, that is useful, but the cost is a calculation that's math.  It is all math, right?  This doesn't sound like it is math.  It sounds like you have to pick a number.  Is there a formula?

MR. KOGAN:  Yes.  This number would be calculated - this was basically an estimate, if you will, of the results of the funding valuation that was ultimately performed and filed -- I believe it was in J9.6.  That is probably the easiest way to think of it.


And I am sure you can tell from that valuation there is a lot of math and a lot of rules and actuarial standards that the actuaries have to follow, file with the Financial Services Commission of Ontario, so it is a very rigorous process at the end of the day.

MR. SHEPHERD:  All right.  Now, so those are the various -- and so for tax purposes, the amount that you can deduct is the total of this last line on the page, right?  Which I get to be 444.5 million.

But for accounting purposes, the amount that you charge on your income statement and that you collect from ratepayers is the line above that, the line that starts 444.498, which I get to be 768 million.  Do you accept that, subject to check?

MR. KOGAN:  Again with numbers subject to check, conceptually that's right.  One is an accounting number in the financial statements and one is the cash amounts.

MR. SHEPHERD:  And that difference, about $325 million, that's taxable, so there is a tax cost associated with that, which we talked about?

MR. KOGAN:  Yes.  As we discussed, that would have a tax cost.

MR. SHEPHERD:  Now, these numbers are for all of OPG.  And so we can look at the numbers that you've included in your application, because the numbers you included in your application are on the same basis, right?  They're based on this report?

MR. KOGAN:  The prefiled evidence was correct, but of course, as you know, those have been updated now several times.


MR. SHEPHERD:  All right.  So if you look at page 3 of our materials, you see that the pension and other post-employment benefits cost for the prescribed facilities for 2014 is 682 million.

And that -- and what is in their report is 768 million, so the ratio is 88.8 percent.  So that 88.8 percent -- in 2014, 88.8 percent of your pension and other post-employment benefit costs relate to the prescribed facilities; is that right?

MR. KOGAN:  If that is the math, sure.  I use a rule of thumb of about 90 percent once you have counted, you know, the regulated.  So that is reasonable.


MR. SHEPHERD:  But that is not a number that should change very much, right?  That ratio should be roughly the same?


MR. KOGAN:  I expect it to be relatively stable, yes.


MR. SHEPHERD:  Okay.  Except in 2015, because you have -- in 2014 you have the newly regulated for only half the year, and in 2015 you have them for the full year, the ratio of prescribed facilities costs to total OPG costs should be slightly higher, right?

MR. KOGAN:  All of the information, I believe, that we have presented in our exhibits until the build-up of the payment amounts and the revenue requirement is actually on the full-year basis for the newly regulated for 2014.

So all of these numbers for 2014 include newly regulated for a full year, and then I think we back out, in Exhibit I, basically half a year's worth to get to the payment amount calculation.

MR. SHEPHERD:  Oh.  So this 682 million for pension and other post-employment benefit costs for 2014 is not what you are actually asking for?  You are actually asking for something slightly less?

MR. KOGAN:  That's right.  There will be a proration of the 2014 amounts, not just for pension but in general, for various items.

MR. SHEPHERD:  All right.  And that's reconciled somewhere?  I didn't see a reconciliation like that, and so I obviously --


MR. BARRETT:  There was a general discussion of this using the half of the 2014 test period, and the -- in the I exhibits, which talk about how -- or show how we calculate the rates and the riders.


So again, as Mr. Kogan indicated, so we're taking -- we presented a full-year test period, 2014, full-year revenue requirement, so people could see the numbers.  And then when we go to calculate the payment amounts, we take half of that revenue requirement and we take the six months of production, divide those two numbers, and produce a rate.


MR. SHEPHERD:  All right.  Well, that is interesting.  Okay.


So I wonder if you can take a look at -- I don't have the page number here.  Wonderful.


MR. BARRETT:  Sorry, just if I could correct the record, just to be clear on this.  What we actually do is, as I recall it, is we take six months of the revenue requirement for '14, add it to the full revenue requirement for '15, and divide the total of those two numbers by the 18 months of production, because we have one rate for the entire test period.


MR. SHEPHERD:  Okay, okay.  It's mathematically different, but the total ends up being the same.  All right.  This stuff is complicated enough, Mr. Barrett.


All right.  I want to take a look then at -- sorry.  Here we are.  This -- I have lost my spot.  Okay.  Just as you have a ratio of prescribed facilities to total OPG for your accounting costs, the same ratio should apply for cash costs, right?  That is, the amount of cash payments you have to make to the pension plan, the allocation to prescribed facilities, should be the same percentage as you have for the costs, right?


MR. KOGAN:  So just for clarity, when we say there is a percentage for the costs, that percentage is an outcome of an allocation, assignment methodology -- I just want to make sure that the record was clear on that, and that, you know, some costs are charged directly because they're current service costs, essentially how they're allocated, so that kind of, you can express all that ultimately as a single percentage.  And then, yes, the allocation of the cash amounts we have done on the similar basis.


MR. SHEPHERD:  Okay.  So if the prescribed facilities are 88.8 percent of the OPG total in the Aon report, for cost, then it wouldn't be surprising that the amount you have charged -- you treated as cash costs is also 88.8 percent.  That is what you would expect, right?


MR. KOGAN:  That wouldn't be surprising.


MR. SHEPHERD:  Okay.  Good.  We're going to come back to the 88.8 percent.  That is why I'm making the point.


So the 2015 numbers for -- in the original filing have a substantial increase in the actual cash contributions, about $120 million -- $115 million.  Can you help us understand the reason for that?


[Witness panel confers.]

MR. SHEPHERD:  If it is not immediately available it is not important enough to wait.  Can you undertake to explain?

MR. KOGAN:  I know at a high level.  I am just trying to find sort of the exact wording that --


MR. SHEPHERD:  High level is good.


MR. KOGAN:  The bigger variance is in 2014, and it is to do with an assumption around a one-year deferral that may have been available under the Pension Benefits Act for the first-year valuation of certain payments.


And that assumption that that deferral would be taken ultimately is not what happened, and that is reflected in the higher numbers in 2014 per the N1.


MR. SHEPHERD:  Okay.  So -- that's interesting.  So you thought that in 2014 you were going to be able to defer an increase in your contribution until 2015, but as it turned out that increase has to happen in 2014.  And we will see that as we go through the impact statements.  Fair?


MR. KOGAN:  You used the word "has".  Again, it was, I believe, an election that may have been available.  So I am not sure that it is necessarily a must, and I don't have the details of what that election is on me.


MR. SHEPHERD:  So you had a choice of increasing the cash payments, and you chose to -- or not, and your ultimate -- your original choice was not to increase them in 2014, and your ultimate choice when we get to the second impact statement is to increase them for 2014?


MR. KOGAN:  Again, I don't have the details of the rationale, so, you know, I am reluctant to use the word "choice", just because there may have been some very good reasons why it wasn't practical, and I just don't have those details.


MR. SHEPHERD:  All right.  So, now, I wonder if you could go back to page 3.  We're not actually going backwards.  It's the same -- exhibit has numbers for the first impact statement.


And when you went to your 2014 to 2016 business plan in impact statement number 1, you also had a new estimate of your pension and other post-employment benefit costs, right?  And that is what we see here in the bottom line there?


MR. KOGAN:  That's right.  Those are the numbers in the '14 to '16 business plan.


MR. SHEPHERD:  And so they went up by $146 million, right?


MR. KOGAN:  Yes, that's the math over the test period.


MR. SHEPHERD:  And you had a new report from Aon Hewitt, which we see here at pages -- if I can find them -- 12 and 13.  This is a report they did in December.  So three months later they did this report, right?


MR. KOGAN:  That's right.


MR. SHEPHERD:  And so the accrual-based cost, the total was 768 in 2014, the first time around.  And this one is now 857.6.  So for that one year, the accrual-based cost went up $90 million, basically, right?


MR. KOGAN:  Subject to check, the math seems reasonable.


MR. SHEPHERD:  Yes.  And the prescribed facilities, by the way, are still 88.8 percent of the total.  Will you accept that subject to check?


MR. KOGAN:  Yes, I will accept that subject to check.


MR. SHEPHERD:  And that's not unusual, right?  You did nothing in this calculation that would change the ratio of prescribed to total OPG.


MR. KOGAN:  We assumed for the purpose of these filings that it is going to be the exact same ratio, I believe.  In practice, if you actually went through a full detailed calculation of the allocations, you know, might you come out with a slightly different number?  You might, but it certainly would be all in that range.  We have continued to assume it is the same factor.


MR. SHEPHERD:  So when you calculated the amount, if you look at page 3, the amount of 761.7 million for 2014, you didn't actually allocate the components of the revised costs.  You simply said, take the same ratio to the valuation, right?


MR. KOGAN:  Yes.  And we did that for simplicity and in order to be able to file this information on a timely basis, because if you go through the full gamut of the allocation methodology based on your business plan you have to basically run it for all your corporate groups in order to be able to figure out how much of the direct charge to each of the groups can -- then would get reallocated to the prescribed facilities.  So it would have been an exercise that would have been quite time-consuming.


MR. SHEPHERD:  So you did that exercise for the first filing, the first Aon Hewitt report.  The costs that they calculated, you allocated line by line, the way you are supposed to, to prescribed facilities and other, right?

MR. KOGAN:  That's right.  And again, it is due to timing, that, you know, when you are filing in September of '13 based on the business plan that was done before, you had the time to do all that and you had done it.  We didn't have a chance to do that yet at the time of the filing of the first impact statement.


MR. SHEPHERD:  And any variation is not likely to be material anyway, right?


MR. KOGAN:  I agree with that.


MR. SHEPHERD:  Okay.  So then the other -- I want to clear up one thing about this.  If you take a look at page 12 of our materials, you see the total of the cash payments for the entire company is 377.5 million.


Will you accept that add, subject to check?

MR. KOGAN:  Yes, I will.


MR. SHEPHERD:  And the reason that is interesting is because I look back at page 4 of our materials, which is your chart 4 in the first impact statement, and your estimate of the prescribed facilities cash payment is 355.3 plus 89.3; do you see that?  Which is 444.6.


So I don't understand how your cash payments in your calculation can be more than what Aon Hewitt said they were supposed to be.

MR. KOGAN:  So yes, there is a difference in the numbers, as you have noted.  And the amount on page 12 of the compendium at the bottom are labelled "Amounts used for developing the estimated net periodic pension benefit cost."


So that was not the actual number for the cash that we ended up assuming the final number in the business plan, in the approved business plan '14 to '16.


The reason for that was due to timing.  These costs that you are seeing at page 12 were generated some time earlier in the fall, just because the actuaries need a sufficient amount of time to run all of the costs.


And for the purposes of the costs, they have assumed these numbers that are shown here.  The impact of these numbers on the actual costs is not that great, because it just affects the expected return component of the costs.  Right?


And therefore we did not rerun those numbers based on the final business plan assumed contributions that ultimately reflected that assumption, as I discussed earlier, around the deferral and so on.  And that's why there's a disconnect.


But the final approved numbers in our business plan are the ones that are in the actual body of the N1 update.  And those numbers are also, in turn, based on numbers that came from the actuaries.  So they're not numbers we picked out of the air type thing.


MR. SHEPHERD:  So I don't understand.  You filed the actuaries' report.  It says 377.5 million.  You used something different, and you're saying it is their number?


Their number is 377.5.  I can see it.

MR. KOGAN:  No, both are their numbers.  It was just a vintage issue.


The 277, which is the amount for the registered pension plan, would have been generated earlier as part of the overall development of the costs, because they need to know what the numbers for the contributions in order to calculate the cost, because it is sort of part of this package of the report and the ultimate cost calculation.


Subsequent to that, the decision was made that the final number in the business plan for cash was going to be different, also in part based on their input.  But because of the timing, you really didn't necessarily have the ability to go back to the actuaries and say:  Oh, now I want you to rerun the costs, assuming it is not 277, but a higher number.


And the main reason for that is that the impact, again, would be very small.  You're maybe looking at half a year's worth at 6.25 percent in terms of the impact on the cost.

MR. SHEPHERD:  Well, the impact on the cash is -- cash payments is quite substantial, right?

MR. KOGAN:  That's right.  That is why the business plan reflects the better, more recent number.  And that's the number we've shown in the body of N1 as part of the revenue requirement update.  It is just that the costs are lagging a little bit.  That's all.

MR. SHEPHERD:  And the effect of this is actually to reduce your tax obligation, right?

MR. KOGAN:  Higher cash amounts equate to a higher tax deduction, yes.


MR. SHEPHERD:  Was that a factor in deciding to increase the contributions assumed for 2014?

[Witness panel confers]


MR. KOGAN:  I don't have firsthand knowledge, but I wouldn't think so, sitting here right now.  I think it was more to do with putting in a more realistic estimate of what the pension contribution is going to be, which is what we want the business plan to reflect.

MR. SHEPHERD:  Okay.  So do you have a report from Aon Hewitt that has the numbers that you've relied on for the cash contributions?

[Witness panel confers]


MR. MAUTI:  I guess as part of the continuing evolution of the pension costs for 2014, in your compendium pages 18 and 19 show a report from Aon Hewitt that has other changes as well, but included in that on the bottom of page 18 is a revised number for pension contributions for 2014, showing $400 million.


So this would be the third Aon report supporting the N2 update.

MR. SHEPHERD:  Well, yeah, but that obviously isn't the number you relied on for the N1 update because it wasn't done until March, right?

MR. MAUTI:  Correct.  But as Mr. Kogan said, there is an issue of vintage from when they were using the information from, say, a September vintage to when we have to finalize our business plan in November.  And they were doing an impact statement number 1 and then number 2, so by the time you get to that second impact statement, which is why we asked for a revised report showing those updated assumptions.


There is other changes in those assumptions, but it does actually reflect, again, an updated amount for pension contributions, cash contributions.

MR. SHEPHERD:  All right.  If you could go back to page 3, I just want to talk for a couple of minutes about the changes in assumptions that resulted in an increase in your assumed pension and other post-employment benefit costs.


In your chart 3 you attempt to break those down.  I want to see if I can track some of these back to pages 12 and 13, the breakdown from Aon Hewitt.

So the first thing you did you updated your mortality assumptions.  Now, do I understand that you did that twice?  You did it once in the fall and then in December, and then again in the second impact statement; is that right?

MR. MAUTI:  The first update to mortality assumptions was the -- what I will call the prime change to move away from what I have considered an old, outdated view of mortality, as well as mortality improvements, that our actuaries were undertaking in part as part of the funding valuation work they were doing.


So we did, again, a combination, as stated in the evidence, to change both the base mortality table, to use something specific, to OPG's experience and updating for an issue that, across the industry, there is a recognition that mortality rates and mortality improvement did not reflect sort of the real world experience.


So both that base mortality table as well as the future improvements of mortality, which gets into how life expectancy and things are changing over time and how those improvements would work looking into the future.


So that was done as part of the N1 impact statement that you see here on page 3 of your compendium.

MR. SHEPHERD:  While this was going on, the Canadian Institute of Actuaries was actually in the process of changing its guidance to actuaries, right?  In July 2013 it had set out, like, sort of a discussion paper, if you like, saying:  Here's some changes we need to talk about.


And they were in the process of considering that in December, right?

MR. MAUTI:  Things were very fluid during this period of time, in terms of changes generically across the entire industry for actuaries.  I believe it was an educational note, it might have been called, back in 2013.

MR. KOGAN:  It was actually a draft report that was under discussion and subject to comments, and ultimately, I think, received quite a number of comments.  But that was going on during that time; that's right.


MR. SHEPHERD:  Then in February, there was actually a direct guidance document from the Canadian Institute of Actuaries, telling actuaries:  This is how you should respond to this.  Right?

MR. KOGAN:  In February, the Canadian Institute of Actuaries did issue their basically final, final report that did provide the final guidance, and as a result of that the mortality improvement assumption was changed as recommended by our actuaries.


MR. SHEPHERD:  That's why you have two changes.  You have the change that was based on the initial research, and then, after the Canadian Institute of Actuaries considered it, they modified that change in February.  Right?


MR. KOGAN:  Basically, yes.  The first change considered not just what was going on with the Canadian Institute of Actuaries but just in general in industry as well, as well as our own experience, as Mr. Mauti pointed out.


MR. SHEPHERD:  Now, what happened then is that, as a result of those updated mortality assumptions, what that means is that you assume that people were going to live longer as a result of these assumptions, right, basically?


MR. KOGAN:  It is the assumptions recommended by our actuaries in terms of how long people will live and taking into account assumptions around how longevity will improve over time.


MR. SHEPHERD:  Understood.  So the result of assuming that people live longer is you have to pay them pensions longer so your pension obligation goes up, right?


MR. MAUTI:  That is the down side of living longer, yes.


MR. SHEPHERD:  Yeah, it's not as much of a down side as -- perhaps.


Now, the other thing that happened is that you decided to assume a higher discount rates, going from 4.3 percent to 4.7 percent, right?


MR. MAUTI:  Again, it is not a decision to.  It is just the evolution of discount rates in the industry, based on largely long-term corporate double-A bond rates, yes.


MR. SHEPHERD:  You also went to a new assumption for healthcare benefit costs, which reduced your other post-employment benefit assumptions by 131 million?


MR. KOGAN:  Again, as recommended by our actuaries as part of the comprehensive accounting valuation, that was a change made.


MR. SHEPHERD:  Now, it also says here "updated membership data".  Tell me what that is.


MR. KOGAN:  As part of a periodic comprehensive accounting valuation, the actuaries will pull data for all plan members and update it in terms of, you know, their age, their service, their marital status, those sort of the demographic-type assumptions that they don't -- or not assumptions, data, rather, that they don't update every single year otherwise in between the comprehensive valuations.


MR. SHEPHERD:  So when they did valuation in 2011 they had a set of assumptions about the demographics of your work force and your retirees.  And now they've updated those assumptions, right?


MR. KOGAN:  I shouldn't have called them assumptions.  It is really actual data.  So you go into the -- as I understand it, you actually look at the register of people and you say, this is the -- these are the demographic characteristics of the people, and they obviously change as, you know, people get married, people have children, people change their life-insurance coverage and all that stuff.  So it is just bringing the actual data up-to-speed.


MR. SHEPHERD:  Okay.  Then you have $75 million of "other" changes.  Can you just briefly tell us what that was?


MR. KOGAN:  So I think those -- the major ones included there would be to do with the asset values that -- pension asset values that would have changed, as well as some head-count impacts.


MR. SHEPHERD:  So other changes would be, for example, business transformation is driving down your number of people, right?  And that means your pension costs are going to go down, right?


MR. KOGAN:  To the extent there's a change in the number you have forecast previously versus you forecast now and, you know, in terms of head count, which would be impacted by business transformation, yes.


MR. SHEPHERD:  So that would be -- if you changed your head count in your 2013-2015 business plan to your 2014-2016 business plan, that change in head count then has to be reflected in that line in the pension and other post-employment benefit costs, right?


MR. KOGAN:  That's right.  The costs for pension and other post-employment benefits do reflect changes in assumptions or forecast of head count.


MR. SHEPHERD:  But -- and that, of course, would be a reduction in your head count.  So that would actually make your pension costs go down, generally speaking, right?


MR. KOGAN:  Generally speaking, reduced head count reduces cost --


MR. SHEPHERD:  But this line actually goes up, and the reason for that is that your actual earnings on the plan were not as much as you expected?  Is that right?


MR. KOGAN:  The asset values that are ultimately used as part of the cost calculation were not as expected, factoring in the smoothing of the equity gains on a market-related basis that I alluded to earlier.


MR. SHEPHERD:  So I want to go to page 12 of our materials.  And just a couple of questions on this.  If you see the second line there, 10.6 billion, you will recall that three months earlier that had been estimated at 10.8 billion.  So it has actually gone up by -- gone down by $243 million?  Is that because of the actual returns for the year not being as good as -- I am comparing page 6 to page 12.


MR. KOGAN:  So it does have to do with different-than-assumed returns, but also how they flow through into the market-related values.  So if it's equity returns, they would -- they do really well, you wouldn't necessarily see that benefit right away, and vice versa.  If they do poorly, you don't see it right away.  But for fixed income you would see it right away.


So you have to look at those two components separately, how they performed, but generally speaking, it is about the perfor -- the relative performance of those components in the year.


MR. SHEPHERD:  Well, when we get to the second impact statement, you are actually using real year-end values, right?  For 2013?  Real numbers.


MR. KOGAN:  You are using the actual year-end 2013 values, but again, they would be on a market-related basis, subject to the -- to the smoothing calculations.


MR. SHEPHERD:  Well, your financial statements use actual market value, right?


MR. KOGAN:  That's right.


MR. SHEPHERD:  And that's the same number as here?


MR. KOGAN:  It's the same number as here, but it's a different number that is used in the calculation of the costs.


MR. SHEPHERD:  All right.  So the other thing is the benefit obligation goes up from 13,971 to 14,159, and that increase in the benefit obligation is in part because of the change in mortality, but also partly offset is the change in the discount rates, right?


MR. KOGAN:  Yes.  You basically will be seeing the impacts of the similar factors that we discussed in terms of the cost at chart 3 in N1-1.


MR. SHEPHERD:  It would just be bigger.


MR. KOGAN:  I would expect those impacts to be bigger, yes.


MR. SHEPHERD:  Yes.  Why would the unrecognized net actuarial gain go up from 4.3 to 4.7 billion?  Is there some relationship between that and the first section that I didn't understand?  Because I thought they were different.


MR. KOGAN:  So the change in the unamortized amount would be driven by a number of factors.  You know, one would be when you have a change in assumptions that is impacting the obligation, then that doesn't flow through the costs, which are basically on the income statement right away, as we discussed.  It gets parked in the other comprehensive income and flows in over time.


So to the extent you have a change in assumptions such as discount rates, or asset performance, that would all go into that calculation.  It is a pretty complicated calculation to get to that number, so it is a lot of variables.


MR. SHEPHERD:  I guessed that.  Here's what I'm trying to understand here.  In the first report, the difference between the unrecognized net actuarial loss and the net liability was just under 1.1 billion.  And it appears that in the next report the liability has gone up and the net actuarial loss has gone up by exactly the same amount.  Is that right?


MR. KOGAN:  Sorry.  First of all, I don't think it is a difference of 1.1, because again, there's sort of different -- no.  Let me take that back.  Could you just restate your question?


MR. SHEPHERD:  Yes.  You have a net actuarial loss that is 1.1 billion more than your actual unfunded liability in the first report.

In the second report it is the identical difference?  The liability goes up, the loss -- the unamortized loss goes up too?

[Witness panel confers]


MR. KOGAN:  So that is actually logical, because the costs for the year are set at the beginning of the year using the assumptions at the beginning of the year.


And so to the extent there are changes in the ending liability for the year, that isn't going to impact the costs for the year.  So it is all a change in the unamortized amount, which is going to impact costs going forward.


So it does make sense to me that they would change like that.

MR. SHEPHERD:  The reason I am pursuing that is because it looks, in the end, like you're amortizing in rates each year $1.1 billion of losses that are not actually unfunded liabilities.  They're excess liabilities that you don't really have.


Is that unfair to say that?  You are amortizing in rates an amount that is higher than your actual unfunded liability; fair?

MR. KOGAN:  I don't think that that compares -- that that comparison is meaningful.

The unfunded liability is -- has partly not yet flown through the income statement, basically.  And the part that hasn't flown through will flow through over time and get into costs.

MR. SHEPHERD:  All right.  I will let that go.  We will deal with it later.


I have one other question on this point, and that relates to the impact of discount rates.


If you take a look at page 12, you see that the interest cost is -- increases to 666.7 million, and -- from what it was before, 602.3 million.

Now, part of that is because the obligation goes up, right?

MR. KOGAN:  It's the net effect of the change in the growth in the obligation, but the application of a lower discount rate.  So it is a net effect, which in this case has happens to be, as you said, a net increase.


MR. SHEPHERD:  It is a higher discount rate, isn't it?  You increased the discount rate, from 4.3 to 4.7?


MR. KOGAN:  Sorry, my bad.  That's right.  It is the net effect of the change in the obligation for various reasons, including discount rates and mortality and the change on the interest factor itself.


MR. SHEPHERD:  Okay.  So -- and this is what I can't understand.  Go back to page 3.


It says that the discount rates, the change in the discount rates is decreasing your pension and other post-employment benefit costs, but I see here that it appears to be increasing your costs.


MR. KOGAN:  The discount rate also impacts the amortization components.  So you have to look at the net effect of the discount rate in both of those components.


MR. SHEPHERD:  The amortization is going up too.


MR. KOGAN:  But part of that is driven by discount rates and part of it is driven by other things.


And you have to effectively unbundle the change.  And it's going to be sort of an netting effect going on in the amortization component between discount rates and other things, for example.

So you cannot discern that from this.


MR. SHEPHERD:  So that 289.3 million would actually be significantly higher but for the change in the discount rate; fair?

[Witness panel confers]


MR. MAUTI:  Sorry, can you repeat the question with the numbers?


MR. SHEPHERD:  I am reading back to Mr. Kogan what I thought he was saying to me.


MR. KOGAN:  Sorry, I was just -- Mr. Mauti was pointing out to me that it is also the current service cost component where you would see a decrease in the cost to the discount rate, so it is really across three components.


So because now you have three components engaged, I don't think I can answer definitively how the amortization would be affected.


MR. SHEPHERD:  Well, you did a calculation when you said discount rates were reducing it by 206 million, right?

MR. KOGAN:  It likely would have come from our actuaries, but sure.

MR. SHEPHERD:  Madam Chair, that is probably a convenient time to break.  I know you are eager to hear more right now, but that's probably a good time to break.


MS. HARE:  Okay.  We do have a commitment over lunch that means we have to take a slightly longer lunch today.  We will come back at 2:10.

--- Luncheon recess taken at 12:56 p.m.
 
--- On resuming at 2:10 p.m.


MS. HARE:  Please be seated.


Okay.  Mr. Shepherd, you have another 40 minutes.


MR. SHEPHERD:  I will talk as fast as I can, Madam Chair.


So we are up to the first impact statement.  I want to cut to the second impact statement.  In the first impact statement, the forecast of pension and other post-employment benefits was one billion-500.8.  And will you accept subject to check that there was an additional cost tax of that of 186.2?  So the total would be a billion-687?


MR. BARRETT:  Sorry to interject, sir, but I thought Mr. Kogan had a point that he wanted to make before we got back into the questioning, just to clear up the record a little bit before the luncheon break.


MR. SHEPHERD:  Okay.


MR. KOGAN:  Thank you.  I just had a chance to reflect over our discussion about the 3 billion and 4 billion and wanted to try and make the record clearer.  So I will do my best.  And I am using numbers that are at page 6 of the compendium in the registered pension plan column, but the logic would apply to the various vintages of the updates that we have discussed.


The first number talked about is the projected benefit obligation, and that shows up as 13.9 billion, so let's call that 14, and that is the accounting obligation for the registered pension plan that the company has incurred on a company-wide basis as at that point in time, on a present value basis, of course.


The next figure that is relevant is, approximately 10 billion of that, since inception, has flown through what I would call recognized costs, which is basically the income statement.  The difference between those two numbers is approximately 4 billion, and that is the amount that is labelled "unrecognized net actuarial loss", so that 4 billion is waiting in a parking lot, as I call it, to flow through basically the income statement over a period of time to the various smoothing mechanisms, et cetera.


So the resulting difference is -- sorry, so that is the 4 billion.  At the same time, over time the assets through, you know, accumulation of interest and earnings, as well as contributions, which are made pursuant to the funding valuations, which in turn follow rules set out by the Pension Benefits Act and the Financial Services Commission and so on, that value has accumulated to 10.8, or let's say 11 billion, and that is labelled "fair value of plan assets".


And the difference between the obligation that we have in the assets is a $3 billion unfunded amount on an accounting basis.  So there really isn't a direct relationship between the 3 and the 4.


MR. SHEPHERD:  Why does the unrecognized net actuarial loss go up or down exactly the same amount as the net liability in these reports?


MR. KOGAN:  So I think, as I tried to explain before lunch, because the costs for the period are not changing and you're changing all the assumptions and the obligation's changing, the other side of the obligation entry has to be either the income statement or the comprehensive income, because the costs are not changing since they're set using assumptions at the beginning of the year.  The only other place to go is the unamortized gain or loss amount.


MR. SHEPHERD:  Okay.  So that's -- I thank you for trying, but you've got me more confused now, because what you've explained is that there is a relationship between the projected benefit obligation and the unrecognized net actuarial loss, and the difference between the two --


MR. KOGAN:  Yes.


MR. SHEPHERD:  -- is the amount that's gone through the income statement, right?


MR. KOGAN:  Yes, basically that's right.


MR. SHEPHERD:  Okay.  I think that's what you said.


MR. KOGAN:  Yes.


MR. SHEPHERD:  So that means -- that should mean that if you haven't changed what has gone through the income statement --


MR. KOGAN:  Yes.


MR. SHEPHERD:  -- then every dollar change in the projected benefit obligation should be a change in the net actuarial loss, and the value of the fund assets should have nothing to do with it; is that right?


MR. KOGAN:  That's right.


MR. SHEPHERD:  Okay.  That's not what's happening, so explain why that's not what's happening.  When you go from one report to the other, that is not what happens.


MR. KOGAN:  Because there is also a change in the asset values.


MR. SHEPHERD:  But you just said that that was not relevant.


[Witness panel confers.]

MR. KOGAN:  Can I reflect on that, just for the sake of time?


MR. SHEPHERD:  Yes.  Why don't we go on to the other stuff.


MR. KOGAN:  Sure.


MR. SHEPHERD:  We are actually going to come back to this issue later anyway in ten minutes, so --


MR. KOGAN:  Okay.


MR. SHEPHERD:  -- maybe we can deal with it then.


MR. KOGAN:  Thanks.


MR. SHEPHERD:  So, all right.  First impact statement, a billion-500.8, plus tax impact of 186.2, for a total of a billion-687 in revenue requirement.  Will you accept that subject to check?


MR. KOGAN:  Yes.


MR. SHEPHERD:  Okay.  Then, now we go to the second impact statement.  And you will find that at page 15 -- 14 and 15, I think, yes, 14 and 15.


And you made a number of changes to assumptions.  This was based on an Aon Hewitt report from March, right?  Even though this was filed in June, they actually -- their report is from March, right?


MR. KOGAN:  That's right.  And that report is originally filed, in fact, to Interrogatory -- in response to Interrogatory -- under issue 6.8, Staff 1-12.


MR. SHEPHERD:  So -- okay.  And in your second impact statement one of the things I noticed is you didn't have a breakdown of the things driving the change in pension costs, the same as you have on page 3 of our materials.  Do you see that?


MR. KOGAN:  Yes.


MR. SHEPHERD:  How much was mortality, how much was discount rates, et cetera.  You presumably have that, right, that sort of breakdown?  You know what those --


MR. KOGAN:  I expect we have some sort of breakdown, yes.


MR. SHEPHERD:  So can you provide that, same format as you did in the first impact statement?


MR. KOGAN:  Yes, we could.


MR. SHEPHERD:  Okay.  And the total result --


MR. MILLAR:  Mr. Shepherd, I will give that an undertaking number.  J12.1.

UNDERTAKING NO. J12.1:  TO PROVIDE A BREAKDOWN OF THE SECOND IMPACT STATEMENT.


MR. SHEPHERD:  And the result of this is that the costs -- the accounting costs goes down by 206.9 million, right?


MR. KOGAN:  Yes.


MR. SHEPHERD:  And we're going to come to the reasons for that in a second.  And there's a tax savings as a result of that because your cash payments aren't going down.  They're actually going up a little bit.  And so the amount of extra taxable income that you have to pay tax on is reduced.  Right?


MR. KOGAN:  There's an associated reduction in the income-tax cost.


MR. SHEPHERD:  And the result is that the total cost goes down to 1 billion-408.8.  So we went from -- here's where I'm going with this.  You filed, and you said, We need in the revenue requirement a billion-544.8.  Then in the first impact statement you increased that to a billion-687.  And now you have reduced it to a billion-408.8.  Is that right?  Will you accept those numbers subject to check?

MR. KOGAN:  I accept that those kinds of things have happened, sir.  I am not following every single number, but, yes, there has been a change to the tax cost and the pension costs in each one of these.


MR. SHEPHERD:  And the basis of this one is the Aon Hewitt statement schedule on pages 18 and 19, right, which is what you filed in staff 1.12?


MR. KOGAN:  That is an excerpt from that attached to staff 1.12, as well as the N2 impact statement, yes.


MR. SHEPHERD:  Okay.  Now -- and what we see here is the $400 million number for pension-plan contributions?  Where did that number come from?  That is not Aon Hewitt's number, right?  That is your number.  That is a forecast from you.


MR. KOGAN:  It is the approved '14 to '16 business plan forecast, yes, it is.  But it is certainly based on an Aon Hewitt set of numbers.


MR. SHEPHERD:  The reason I ask that is because it seems like an awfully round number for an actuary to give you.  I have never seen an actuary give you a number that's an all-around number.

MR. KOGAN:  No, I'm sure there would have been rounding that we may have done for business planning purposes, sure, but that is because it is a planning exercise.  At that point, you are trying to project the results of a funding valuation.


So, you know, there is really not a lot of point being precise to the penny.  That is just the approach we have taken.


MR. SHEPHERD:  I understand that for your business plan.  This is their report.  Why does their report have your number in it?

MR. KOGAN:  This is a projection of the numbers.  And they, in fact, indicated in this report -- and I am just going to pull it up -- that these are OPG business plan numbers.  And as I said, those numbers were, in turn, based on information provided by Aon.

And in this report, they indicate that the -- they're in the process of finalizing the funding valuation at January 1, 2014.


MR. SHEPHERD:  Okay.  I am going to come to that in a second.  All right.  Let me just ask a couple of questions about this.


We see that, again, the unrecognized net actuarial loss has changed, and the net liability has changed by exactly the same amount; do you see that?

MR. KOGAN:  Sorry, I just wanted to make sure -- I said I would refer to where it is noted in their report.  It is at the top of page 7 of attachment 1 to N2-1-1.

MR. SHEPHERD:  What is this you're referring to?  Sorry, I lost you.


MR. KOGAN:  Just an acknowledgement that these are business planning numbers that Aon is alluding to, and that they're in the process of finalizing the funding valuation.  I just want to be clear that this is transparent.  That's all.


MR. SHEPHERD:  Okay.  Good.


So now we've given you -- I didn't actually -- when I was preparing this cross I didn't realize that you'd filed 9.6.  So we have given you an excerpt from that funding valuation, the June 2014 funding valuation as of January 1st, 2014; do you see that?

MR. KOGAN:  Sorry, what page are you on?


MR. SHEPHERD:  I think the members of the Panel have this?


MS. HARE:  We do.  Does this need an exhibit number?  No, because it is already in evidence.


MR. SHEPHERD:  This is only an excerpt, so I think it does need an exhibit number.


MR. MILLAR:  So that will be K12.2, and it's excerpts from the actuarial valuation as at January 1st, 2014.
EXHIBIT NO. K12.2:  EXCERPTS FROM ACTUARIAL VALUATION AS AT JANUARY 1, 2014.


MR. KEIZER:  Sorry, is that this document that is -- that was left on the counsel desk?

MR. SHEPHERD:  Yes.  I am sure Mr. Kogan is familiar with the --


MR. KOGAN:  I have the whole funding valuation, so as long as we make references to the pages like that, I can do it.


MR. SHEPHERD:  Oh, yeah.  Oh, yeah.


Let me just ask you a couple of questions about this, because you have this March report, which is the basis of what you are asking the Board for right now, right?

MR. KOGAN:  That's right.


MR. SHEPHERD:  But Aon has now changed that, right?   For at least pension, they have changed that?

MR. KOGAN:  Aon has now, in the normal course, completed the funding valuation as much January 1, 2014.  And I think we made some references to make sure there was proper context in response to J9.6 explaining we were always anticipating that this would happen at some point during the year.


It was a projection, a plan number at the time.  Now we have their results of funding valuation.


MR. SHEPHERD:  And their funding valuation materially different from the numbers that are in your -- that are currently in your application, right?

MR. KOGAN:  They're certainly different, yes.


MR. SHEPHERD:  Well, I get they're different by about $200 million.  Am I in the right range?  Give or take?


Why don't we go through --


MR. KOGAN:  About 100 million in one year and less -- and quite less than that in another year, so...


MR. SHEPHERD:  Let's go through some of the numbers and see whether we can understand what's going on.


MR. KOGAN:  Sure.


MR. SHEPHERD:  If you look at page 3 of their report, you will see that -- page 3 of their report, page 3 of K12.2, shows a discount rate of 5.6 percent.


Now, they've compared it to the last valuation, which was 2011, which was 6.3 percent, but actually what they have done in March was using 4.9 percent, right?

MR. KOGAN:  No, I don't think that would be quite right.  There are different discount rates at play here.


The ones you're referring to, which is the 5.6 and previously 6.3, are the ones used in the funding valuation and they're determined in accordance with the actual practice for funding valuations.


The other is the accounting discount rate that is determined in accordance with accounting guidance, you know, the matter of the AA corporate bond yields and all that.


And the two are not going to be the same because they're different bases.

MR. SHEPHERD:  All right.  I wonder if you could go back to page -- I just have to find it.  Oh, yeah, page 20 of our materials.

MS. HARE:  When you refer to your materials, you're talking 12.1?


MR. SHEPHERD:  Yes.  K12.1, Madam Chair.

MR. KOGAN:  This is the excerpt from the January 1, 2011 funding valuation, I believe.


MR. SHEPHERD:  Yes.  So this is on the same basis, right?  This is this sort of special funding numbers, right?


MR. KOGAN:  These are the funding values that are determined in accordance with the Pension Benefit Act requirements, fiscal and actual practice.


MR. SHEPHERD:  Now, if you go to page 24 of our materials, this is from your evidence.  And these are your discount rate assumptions not for funding, but for accounting purposes, right?

MR. KOGAN:  That's right.


MR. SHEPHERD:  And these are different?

So, for example, in 2011 you have 5.8, but your funding valuation was 6.3?

MR. KOGAN:  They are different numbers because they're determined for different purposes and therefore on a different basis.


MR. SHEPHERD:  Isn't the reason why they're different because 5.8 is an average for 2011, whereas 6.3 is a discount rate as of January 1st, 2011?  Isn't that the difference?

MR. KOGAN:  No.  That is not the difference at all.

MR. SHEPHERD:  All right.  Well, tell us what the difference is, then.

MR. KOGAN:  So there is a good discussion and description of the derivation of the discount rate that is at page 44 of the January 1, 2014 funding valuation.  I'm not sure what page it is in the other materials.


But at its highest level, this is -- this discount rate is based on the expected return on the plan assets, because it's a -- the purpose of this exercise is to calculate a funding requirement, and you want to do that generally on the same basis that you expect the assets to perform.


And whereas the accounting discount rate is based on AA corporate bond yields, because that's the requirement under accounting standards.


So they're different.

MR. SHEPHERD:  All right.  Well, then, when Aon did their report in March and they said that your projected benefit obligation is 13.4 billion, what discount rate would they have used?  Theirs or yours?

MR. KOGAN:  So I wouldn't characterize it as theirs or ours, but they -- those are on an accounting basis, those numbers, that you quoted from their March report.  So these are an accounting --


MR. SHEPHERD:  And then if you go to page 7 of their valuation report, where they say your going concern liability -- that is your obligation, right?  Is 12.05 billion instead of 13.4 billion.  That is using a different discount rate, right?  That is using 5.6 instead of 4.9?

MR. KOGAN:  So the 12 billion you're referring to is using the 5.6.  That's right.

MR. SHEPHERD:  So which is the right number?

MR. KOGAN:  Both are correct.  They just have different applications.


MR. SHEPHERD:  Well, no, I understand that.  But, you know, this Board has to determine on what basis you should recover from ratepayers.


If your -- take a look at page 7 of the report from Aon Hewitt.  It says your unfunded liability is $1.1 billion.  You say it is $2.5 billion, from an accounting purpose.  And in fact, you say it is $3.5 billion from -- in terms of the amount you have to amortize.

Which one is right?  Which is the actual unfunded liability?

MR. KOGAN:  Like I said, they are used for different purposes.  If your question is in the context of rate-setting, then as we have indicated, we are proposing to continue to use the accrual method, which is the accounting method, consistent with how these rates were set for us in the last two proceedings and the Board's findings that it would be more fair and consistent to continue using the same method across periods.


So I don't see an inconsistency there at all.  They're different measures.


MR. SHEPHERD:  All right.  So it is not unreasonable for the Board to look at this and say:  Well, you're amortizing an amount of net unfunded liability that is actually more than your actuary says you have, right?  You're amortizing 3.5 billion, but your actuary says your actual unfunded liability is 1.1 billion from a pension benefits point of view, right?  So why aren't you amortizing that amount?


MR. KOGAN:  Both amounts are calculated by the actuary, so I would not agree that you could characterize one as ours and one as theirs.  Like I said, they have different purposes.  And you have to look at a stream over time that, you know, you're measuring the funding obligations on one basis and you're funding using that basis to get ultimately to what you need.  And the other is on an accounting basis.


MR. SHEPHERD:  Could you go to page 17 of the actuary's report, please, the valuation.


MR. KOGAN:  Okay.  I have that.


MR. SHEPHERD:  So here the -- this Aon says that the amount you should be contributing to the -- maybe that is not the best page.  Sorry.  Actually, let me go to page 19.  That's better.


In 2014 they say you should contribute a total of $358 million to the plan.  So that's actual contributions, right?


MR. KOGAN:  That is the minimum required -- estimated minimum required funding contribution, yes.


MR. SHEPHERD:  So that is an update of the 400 million?

MR. KOGAN:  That's right.  That's the number that is equivalent to 400, and I think in J9.6 I believe we said, you know, the actual number is 360.  We have rounded that up for our forecast purposes --


MR. SHEPHERD:  Well, in fact, the actual cash contributions for the two years, if you look at their report versus what you estimated in March in your second impact statement, the difference is $128 million over the two years, right, cash?


MR. KOGAN:  I will take that subject to check.


MR. SHEPHERD:  Okay.  They also say that your normal cost -- now, that is your current service cost, right?


MR. KOGAN:  Yes.  The term "normal cost" here is basically equivalent to the term "current service cost", yes.


MR. SHEPHERD:  Okay.  So that has also gone down.  You said it would be 235, and it is actually 227, right?


MR. KOGAN:  Where is the number 235 coming from?


MR. SHEPHERD:  235 is from their report in March.  235,496.  And that has now been updated to 227,389 right?


MR. KOGAN:  And again, these are two different bases, whenever you're going to be comparing this funding report to the March reports or the previous versions thereof that we discussed.  This is on a funding basis, that is on an accounting basis, so there will be different discount rates in those normal/current service cost numbers.


MR. SHEPHERD:  I asked you specifically whether normal cost is the same as current service cost, and you said yes.


MR. KOGAN:  No, I said it's the same.  It's the same idea.  It's the same concept.  One is in the funding -- you have the concept of current service or normal service in both funding and accounting, and when it comes to going concern, the main difference between those two numbers is the discount rate.


MR. SHEPHERD:  All right.  Well, no.  An $8 million difference in these numbers couldn't be because of a difference in discount rate from 4.9 to 5.6, could it?  4.9 to 5.6 would be a lot bigger difference.  So that can't be the reason why these two numbers are different.


[Witness panel confers.]

MR. MAUTI:  For the purpose of current service costs, I don't -- when you're typifying the change of a discount rate, the discount rate has a huge impact when you're looking at the entire 14 billion obligation.  If you are looking at just the current service-period component, it's not as large as you would get when you're looking at the whole obligation.


So I do believe the biggest impact of the differences in those methodologies is discount rate.


MR. SHEPHERD:  I'm not sure how I understand that math, Mr. Mauti.  Although you are dealing with a smaller number, the impact of changing the discount rate as a percentage should be the same, because you're still forecasting out an obligation, right?  It is just, it is this year's component of it as opposed to the whole amount, right?


MR. MAUTI:  Correct.


MR. SHEPHERD:  So the percentage impact of a discount rate should be the same, right?


MR. MAUTI:  If I think through the math in my head here, I am not sure if that is necessarily true.


MR. SHEPHERD:  All right.  We will move on.


What I want to ask about here is, you have -- we have agreed that what you're asking for in revenue requirement is 1408.8.  And I am right, am I not, that the cash contributions that you forecast for the prescribed facilities are 950.6 over the test period?


MR. KOGAN:  Sorry, could you just point me to which set of numbers you're looking at?


MR. SHEPHERD:  Page 15, 765.2 plus 185.4.


MS. HARE:  Sorry, page 15 of what?


MR. SHEPHERD:  Page 15 of -- sorry, of K12.1.  And it is lines 4 and 5.  950.6.


MR. KOGAN:  I will take that subject to check, sure.


MR. SHEPHERD:  And because the 1 million-294 -- 1 billion-294 in line 1 is higher than 950.6, you also have a tax impact.


Will you accept subject to check that your revenue requirement would be reduced over the test period by 457.9 million if you were on the cash method instead of on the accrual method?


MR. KOGAN:  I think I would like to do the math on that, given that that number is probably important, given where you're going with this.


MR. SHEPHERD:  I am in the ballpark, right?


MR. KOGAN:  Subject to check.


MR. SHEPHERD:  Okay.  And in fact, if the Board went to the cash method, then the change that Aon Hewitt has proposed to reduce your cash contributions, that would be an additional reduction to the revenue requirement, right, of another $128 million?


MR. KOGAN:  I think in me confirming the math of these numbers are subject to check, it is probably important to reflect that those numbers assume, obviously, a change in recovery methodology going from accrual to cash, and I'm not sure what the full ramifications of that would be once you consider what kind of transition impacts that you might have for one methodology to the other.


So in fact, I probably should be clear that I cannot confirm that those would be revenue-requirement impacts, subject to check or otherwise, because you would need to do that analysis.


MR. SHEPHERD:  Well, okay.  There is no tax implications of cash method, right?  Cash method is, you get the same deduction as you claim from the ratepayers, true?


MR. KOGAN:  My comment wasn't really in reference to that.  It was just generally in terms of how across time, you know, and in the past two hearings we have been under the accrual method, and if now you go to a cash method, how the continuity of that would work.  That is what I was referring to.  It wasn't necessarily specific to taxes.


MR. SHEPHERD:  No, I understand.  My proposition is correct, isn't it?  Cash method, there is no tax impact.


MR. KOGAN:  So again, putting aside any transition impacts, strictly looking that if you included in revenues the cash amounts, as opposed to accrual amounts, then those would be deductible, so there would not be a net tax cost.


MR. SHEPHERD:  Aon Hewitt has now done the valuation, right?  They filed -- you filed it.  I assume that they could then update Schedule 2 and Schedule 3, which are at pages 18 and 19 of our material, which they originally did in March, they could update that now to be current with your valuation, couldn't they?


MR. KOGAN:  So again, I think it is important to recognize that one is an accounting valuation and one is a funding valuation.


MR. SHEPHERD:  I understand.


MR. KOGAN:  And the funding valuation has a -- would have a minimal, if any, impact on the actual accounting pension costs.  Yes, there are tax impacts, as we have discussed.  No question there.  But as far as the impact on the accounting costs, first of all, there would be no impact on 2014 accounting costs, because those are generally set using assumptions at the beginning of the year.  We have made certain assumptions around what the contribution levels are going to be, and unless there is a material difference, once you multiply that by the expected return, let's say, of six-and-a-quarter that we have, and take a half-year rule type thing, the impact on costs becomes very small.


And so, yes, you could update these schedules, but you are going to get a small, small impact, a very small impact on the costs.  So I just want to make sure that that is understood.

MR. SHEPHERD:  All right.  Can I ask you one other thing about this?

MR. KOGAN:  Okay.


MR. SHEPHERD:  Can you go to their valuation on page 6?  This is a page headed up "Subsequent events"; do you see that?


MR. KOGAN:  Right.

MR. SHEPHERD:  And they have said none of these events would affect the valuation, because of course none of them happened prior to January 1st.


But they talk about changes to the plan effective July 1st, changing the rule of 84, increasing the contributions from management group employees, et cetera.


I assume that it is fair to say that these changes may have a material impact on the obligation, the pension obligation, right?

MR. KOGAN:  So just reading through this quickly, I think it is referring to changes in the plan for new folks coming in, into the management group, if I'm getting this right on scanning.


And since it would apply prospectively, I don't think this would -- really should have an impact on the obligation, just at a quick glance.


MR. SHEPHERD:  It will have an impact; it just won't be material?


It has to have an impact.  You're making the pension less attractive, right?


MR. KOGAN:  Yeah, but it is for people coming in in the future.  It is for new employees.  Right?


In this, it says this is effective July 1st, 2014, with -- the valuation is done as January 1, 2014.  So I am not sure it would have any impact at all.


MR. SHEPHERD:  All right.  I want to turn now -- that's it for pensions.  I want to ask you a couple of questions about nuclear liabilities.  I got the short straw and I got all of the hard stuff.


And I'm not going to go into the details of the Ontario Nuclear Funds Agreement.  I may in argument, but I have left that to Mr. Crocker.

But I do want to ask about the interrelationship between asset retirement costs, asset retirement obligations and the segregated fund, in terms of the funded status of these liabilities.

Do you understand where I'm going?  Yes?  So can you turn to page 26 and 27 of our materials, K12.1?


What you see here is you have a section that is the asset retirement obligation, you have a section -- on each of these pages -- that is the nuclear segregated funds balance.  And you have a section which is the asset retirement costs.

Do you see that?

MR. MAUTI:  Yes, I see that.


MR. SHEPHERD:  Okay.  So to my simple mind, the way asset retirement costs and asset retirement obligations work is at the time you put an asset into service, that you know you are going to have to clean up after or later, you take the present value of your retirement costs and you treat that as an asset so you can amortize or depreciate it over the life of the asset.  That is step one, right?

MR. MAUTI:  Correct.  You establish that asset retirement obligation and you set up an equal and offsetting asset.  We'd call it asset retirement costs, yes.


MR. SHEPHERD:  And the obligation actually increases in value each year -- if I am not mistaken -- and that is called accretion because you're getting closer to the day you're going to have to do it?


MR. MAUTI:  True.  As present value sense as each year goes by, that is the impact of one less year of discounting and you recognize it as accretion expenses.


MR. SHEPHERD:  That accretion is at the discount rate, right?  The increase each year is at the discount rate?

MR. MAUTI:  It is the weighted average of that discount rate as that asset retirement obligation may change over time.  As of day one, there is one rate that it was set at at the present --


MR. SHEPHERD:  I am just taking the simple approach first.  This is way more complicated.  I get it.


So then that accretion amount each year, the amount by which the obligation goes up, that is an expense each year, right?

MR. MAUTI:  Correct.


MR. SHEPHERD:  Okay.  Similarly, you have the original net present value which you treated as an asset, an asset retirement cost, right?  And that depreciates each year.  That is also an expense each year?


MR. MAUTI:  Again, for accounting purposes, yes, both the accretion and the depreciation happen.


There is a difference in the recovery methodology through revenue requirement for prescribed versus Bruce assets, but generally for accounting, yes, it works that way.


MR. SHEPHERD:  Okay.  So what we should see is we should see the two numbers, asset retirement obligation and asset retirement costs, should be the same on day one.


And one should go down because it is being depreciated, and the other should go up because it is being accreted, right?

MR. MAUTI:  Generally, yes, that would be the theory.


MR. SHEPHERD:  If it works perfectly, the day you have to clean it up, retire the asset and do whatever you have to do, you have exactly -- the obligation is exactly the amount of the cleanup costs, and the asset retirement cost is zero?  If it works perfectly?


MR. MAUTI:  The day the last nuclear unit shuts down, if you're talking nuclear obligations, yes, there would be zero left in the asset retirement cost and the obligation is accreted right to the exact amount that would have to be needed for remediation.


MR. SHEPHERD:  Perfect.  Now, what happens if, instead of treating the future cost as just a cost, you actually fund it?  You set money aside and say:  There's money for that cost?  How does that change that process?

MR. MAUTI:  Well, that's -- I think of that as, I guess, that third lever in that whole equation, because you have an obligation that you're accreting and growing, and then at some point you actually -- at the day that last nuclear unit closes, in theory the principle would be you would have exactly that amount of money sitting in a segregated fund to be able to discharge that obligation that grew to that amount into the future.

MR. SHEPHERD:  So in the purest case, let's say you have your net present value of your obligation as $10 billion dollars and you say:  Okay, I'm going to set aside $10 billion today.  And let's say that increases, that fund increases at exactly the same rate as the discount rate.


You don't need an asset retirement cost, right?  Because the obligation is fully funded?  Is that right?

MR. MAUTI:  Again, the flip side of setting up an asset retirement obligation is to recognize the fact that that is an actual asset value.


So I don't think you can ignore the fact that you have that equivalent asset retirement cost that then gets used up over the life of that asset.

MR. SHEPHERD:  Well, then how do you account for the fund?  You have taken this fund, you have segregated -- you have a segregated fund that is actually going to pay the cost.  So how do you account for that?


You already have a debit and credit; you don't need another one.


MR. MAUTI:  However the money gets into the fund, which I think is the root of whether you need the asset retirement cost or not, but you set up the fund itself and you're reducing your operating cash because you are setting it up into a segregated account.


MR. SHEPHERD:  All right.  So the reason why I ask this is because if you look at these tables 2 and 3 here for the prescribed facilities and Bruce, and you take a look at the asset retirement obligations, the asset retirement obligations, for example, at the end of 2014 are about 16 and a half billion dollars, right?  16.5 billion?

MR. MAUTI:  Adding up the 8.5 billion and the 7.6 billion?  Whatever that would add to.


MR. SHEPHERD:  You actually find it on page 28 anyway, because you had to do it for your tranches.  16.5 billion at the end of 2014.

MR. MAUTI:  That would be the plan number, yes.


MR. SHEPHERD:  And you have the seg fund balance, 7.142 plus 7.045 is 14.2, let's say?


MR. MAUTI:  This is back from tables 2 and 3 on your pages 26 and 27?

MR. SHEPHERD:  Yes.

MR. MAUTI:  Six... 6.912 and 6.915?

MR. SHEPHERD:  Yes.

MR. MAUTI:  If you're looking at, sorry, again, closing balance?

MR. SHEPHERD:  Yes.  I am looking at the year-end 2014 balances.

MR. MAUTI:  Yes.  Closing balances is a little over $14 billion, yes.

MR. SHEPHERD:  Okay.  So you have an unfunded liability, therefore, which is the difference between the 16.5 and the 14.2?  $2.3 billion is unfunded as of the end of 2014?


MR. MAUTI:  I think I had a similar discussion with Mr. Crocker, in terms of how it is that the money gets into the segregated funds and where that came from, in terms of contributions, versus how it is that the revenue requirements for the nuclear liabilities are determined as part of the Board-approved methodology.


MR. SHEPHERD:  I'm not sure that answered my question.


MR. MAUTI:  There is an unfunded difference between, yes, the values of the ARO and the value of the segregated funds, and it's the difference --


MR. SHEPHERD:  It's $2.3 billion at the end of 2014.


MR. MAUTI:  Subject to check, yeah, that's approximately right.


MR. SHEPHERD:  And you have an asset on your balance sheet which has been depreciated which at that same time is about 3 billion, which is the asset retirement costs, right?

MR. MAUTI:  Approximately 3 billion, yes.


MR. SHEPHERD:  How do those two relate to each other, the unfunded liability and the asset that you are depreciating?  How do those two relate to each other?


MR. MAUTI:  They don't, really.  Again, I was trying to explain that previously through the previous intervenor.


MR. SHEPHERD:  All right.  Well, the reason I am following up is because I listened, and I also read the transcript, and I still don't understand.


MR. MAUTI:  Okay.


MR. SHEPHERD:  So if you could just bear with me for two minutes.  It appears to me that we're paying accretion on the obligation, right, and we're paying -- or at least in Bruce we're paying accretion on the obligation, and we're paying depreciation on an amount that is more than you're going to need, which is the asset retirement cost.


MR. MAUTI:  Right.  And I think this gets back to the contributions into the segregated funds and where those contributions came from, as to whether that's basically through this depreciation, which gets recovered from the ratepayers, or did the contributions to the segregated funds, as I discussed, would -- did not all come just from that amortization or those asset retirement costs.  There was contributions to the segregated funds that were made well in advance.


And as I mentioned, the decommissioning segregated fund was fully funded right from the inception of the Ontario Nuclear Fund Agreement --


MR. SHEPHERD:  Understood.  But that is all your money, right?  It's all OPG's money.


MR. MAUTI:  It came through -- yes, it all came from OPG.  As to whether it came through and from recovery from ratepayers is, I think, perhaps what the distinction was.


MR. SHEPHERD:  No, I understand that.  But it is nonetheless -- under the Ontario Nuclear Funds Agreement, all that money belongs to you.  It is a savings account that OPG has, and there is restrictions on what you can do with it, but it is your money.


MR. MAUTI:  It came from us.  Up to the value of that balance to complete or what that liability was, we can use for discharging that obligation.  We had a discussion about the amounts that were in excess of that amount, the surplus, and, for example, the decommissioning fund, and while we contributed to it, that money is not ours to use.


MR. SHEPHERD:  It is yours.  The Ontario Nuclear Funds Agreement makes very clear every penny in the funds belongs to Ontario Power Generation.  Doesn't it say that?


MR. MAUTI:  In terms of, you know, legally the money in the fund came from us, but the ability for us to actually use for accounting purposes, that is why we do not record the amounts over and above the value of the liability as ours, because, per the terms of the Ontario Nuclear Funds Agreement, we think it is clear that that is actually to the benefit of the province and would not be to the benefit of OPG.


MR. SHEPHERD:  Now, do I understand correctly -- and Madam Chair, my time is up, and this is my last question.


MS. HARE:  That's fine.


MR. SHEPHERD:  Do I understand correctly that the Ontario Nuclear Funds Agreement basically says that the province guarantees that you will get a rate of return of a certain amount on these funds, and in return for that guarantee, if you get a better return than that, you don't get to keep the money.


MR. MAUTI:  You're describing the -- a portion of the used-fuel segregated fund that has that guarantee provision in it.


MR. SHEPHERD:  Yes.  Is that right?


MR. MAUTI:  On the portion of the used-fuel segregated fund that relates to what they consider -- they call it the first 2.23 million fuel-bundle portion of that fund, which is a large majority of the fund, but that return guarantee applies to that only.


MR. SHEPHERD:  The reason that doesn't apply to the decommissioning fund is that fund has been fully funded from the outset, right?


MR. MAUTI:  I believe the principle was the used-fuel fund and the long-term aspect of how to deal with used fuel is the one that is subject to the higher risk and the more unknown, whereas decommissioning, even throughout North America, it's been sort of proven that decommissioning should be -- that the risk of doing that should be with the utility itself.  It is just with the used-fuel portion, given that there is no long-term solution on what to do with used fuel, and the large risk related to that.  That is my understanding why the guarantee was put into place for the -- both the returns, as well as the ultimate full cost of the used-fuel long-term program.


MR. SHEPHERD:  Now, what happens to these funds is that if you go over 120 percent funding -- tell me whether this is right -- if you go over 120 percent funding, you're entitled to designate that excess as a payment by you to the used-fuel fund, right?


MR. MAUTI:  So you have described the condition on the excess of the decommissioning segregated fund.


MR. SHEPHERD:  Yes.


MR. MAUTI:  Yes, if it is over 120 percent funded an election can be made to take half of that money and direct it towards a contribution to the used-fuel fund with the other half going directly to the province.


MR. SHEPHERD:  Okay.  Those are my questions, Madam Chair.


MS. HARE:  Thank you.


Mr. Stephenson, I believe you are next.
Cross-Examination by Mr. Stephenson:

MR. STEPHENSON:  Thank you, Madam Chair.


Panel, my name is Richard Stephenson.  I am counsel for the Power Workers' Union.  I do have a few questions for you, and I think I can actually use Mr. Shepherd's compendium as a reference to the documents that I was going to refer you to, in any event.


And if I could firstly -- if I can get you to turn up page 3 of Exhibit K12.1.  You will see there is chart 3, and I think you gave an undertaking to Mr. Shepherd to update this chart to reflect the outcome of impact statement number 2.


MR. KOGAN:  That's right.


MR. STEPHENSON:  And I just wanted to -- were you going to update that to reflect the variances from impact number 1, or were you going to update it to reflect the variances from the pre-filed evidence?


MR. KOGAN:  I haven't really fully reflected on that.  I was thinking of doing it from the N1 impact statement, but...


MR. STEPHENSON:  If you weren't going to do it vis-à-vis as filed, can I get you to do it vis-à-vis as filed? When I say "as filed", sorry, the pre-filed evidence.

MR. KOGAN:  Okay.


MR. STEPHENSON:  And if I am right -- am I right that comparing the -- oh, and maybe that is a -- I don't know if we need another number on that.  Can I get another...


MR. MILLAR:  Why don't we mark it as J12.2, and Mr. Stephenson, that is to provide an update to chart 3 as against the pre-filed?


MR. STEPHENSON:  That's correct.
UNDERTAKING NO. J12.2:  TO PROVIDE AN UPDATE TO CHART 3 AS AGAINST THE PRE-FILED.


MR. STEPHENSON:  Am I right that if we look at the aggregate test-period amounts for pension and other post-employment benefits under impact statement number 2 relative to the pre-filed evidence, the number is smaller?  It has gone down?


MR. KOGAN:  That's right.  The number in the pre-filed evidence is approximately 1.354, compared to 1.294, which is in the N2 impact statement.


MR. STEPHENSON:  Right.  So it goes up from pre-filed to impact number 1 and then goes down by even more in impact number 2?


MR. KOGAN:  That's right.


MR. STEPHENSON:  Okay.  And I just want to talk for a moment about the impact associated with the mortality issue for a moment, because Mr. Shepherd asked you a few questions about this, and I just want to make sure I understand it.


The mortality assumptions affect both the pension numbers and the other post-employment benefit numbers, correct?


MR. KOGAN:  Yes, they would.


MR. STEPHENSON:  And that's because you account for both of them in broadly the same fashion?  That is, you take into -- you are seeking to recover the costs today that reflect the current, shall we say service which reflects the net present value of the future cost of those benefits.  Correct?


MR. KOGAN:  We are seeking to recover the impact on all the service that has been rendered to date.  You just said current service, so I...


MR. STEPHENSON:  Let me just -- and I want to try to unpack this.


One difference between other post-employment benefits and pension, obviously, is that in pension there is a fund, and for other post-employment benefits there isn't a fund?


MR. KOGAN:  That's fair.


MR. STEPHENSON:  But otherwise, the valuation, your calculation of how much money you need, is driven by many of the same factors; fair?


MR. KOGAN:  Yes.  It is fair to say that the calculations for the pension and OPEB costs that are in our proposed revenue requirements are calculated in a very similar fashion under accrual method, using generally accepted accounting standards.


MR. STEPHENSON:  And critically, they are both sensitive to discount rates and to mortality rates, among other things?


MR. KOGAN:  Not necessarily in the same degree, but sure.


MR. STEPHENSON:  Okay.  And with respect to mortality, the mortality, the mortality assumptions impact your current service costs, because it pertains to how long people that are working this year are going to live; correct?


MR. KOGAN:  That's fair.


MR. STEPHENSON:  But it also affects all of the recipients, including people that have retired long ago; correct?


MR. KOGAN:  Correct.  It applies to all of the applicable members of the plans.


MR. STEPHENSON:  And so one way of looking at this change to the mortality assumption is that you were -- it turns out you were historically under-forecasting how long people were going to live; fair?


MR. KOGAN:  I'd say that the -- what you assumed was going to be the expected longevity turned out to be, I guess, wrong.  We now have better information, so that number wasn't as close as we believe it is now.


MR. STEPHENSON:  Yes, right.  So in a way, you were under-collecting, so to speak, historically?  You didn't collect enough on a year-to-year basis, compared to what it now turns out -- if you'd knew then what you know now -- you should have been collecting?


[Witness panel confers]


MR. KOGAN:  So when you say "collected," I guess you assume in the period that we were actually regulated, obviously.


MR. STEPHENSON:  Yes.  Maybe when I use the word "collect" I am actually using it more in the sense of accruing.  You weren't accruing enough?  Wherever you got the money from?


MR. KOGAN:  We were accruing the right number based on the information we had at the time.  It turns out to be that there is now a better estimate, and as a result there is an adjustment that is related to that accrual but an adjustment arising out of changes in conditions known today.


MR. STEPHENSON:  Right.  For sure.  Nobody's suggesting you weren't using the best available information.  It turns out in hindsight -- the fact that you are changing the number now is telling us that, in hindsight, the number was too low?


MR. KOGAN:  Compared to what we know now.


MR. STEPHENSON:  Right.  So a part of the additional amounts that you are accruing now under the new assumptions pertain to the historical under-accruals; correct?  And a part of it is present, that you are now putting yourself on the correct footing with respect to present service?


It is both of those two aspects?


MR. KOGAN:  I would agree that it does effectively relate both to the service being rendered currently in the year, as well as service and related obligations incurred in the past.


MR. STEPHENSON:  Okay.  Let me just -- let's assume for whatever reason that the Board somehow decided that they didn't agree with this change to the mortality assumption.  And I am not quite sure on what basis, but let's just talk about what the effect of that would be.


These obligations embedded for both pension and post-employment won't -- pertaining to the changed mortality won't go away, in the sense that what it reflects is the fact that you're going to have to pay these benefits out for a longer period of time, right?


Assuming the current higher mortality, it turns out to be accurate, you are on the hook for those costs; correct?


MR. KOGAN:  That's right.


MR. STEPHENSON:  If you don't start collecting them in 2014, you're simply pushing those costs off into the future, to be collected at some greater -- at some future date?


MR. KOGAN:  I think I would agree that the costs certainly would not go away.  This is the best estimate assumption that our actuaries have.


It's, as Mr. Mauti says, widely recognized that this is an issue across the board.  So there are higher obligations and higher costs related to mortality, and we would have to incur and bear those costs, really irrespective of sort of the recovery amounts in this hypothetical situation that you have.


MR. STEPHENSON:  Yes.  I mean, none of these costs can be left behind.  They just keep rolling up over time.  And if they're not collected this year, they're collected next year, and the liability is that much greater because they haven't been collected to date?


MR. KOGAN:  The obligation certainly doesn't go away, and keeps rolling.  But in terms of actually what gets recovered in what period, if you assume that ultimately you have to recover -- and I would say you do have to recover all of your costs, which are these prudently incurred costs, then at some point, yes, you have to get the money and, you know, probably with interest type thing.


MR. STEPHENSON:  Just to be clear, for the purpose of this I am just assuming that all of the other assumptions remain constant going forward.


Let me talk to you for a second about -- again, about this mortality assumption, because as I understand it -- and it is discussed in the material but I wasn't sure I got it.  And maybe you can clarify it for me.


There are two independent changes that are made to the mortality assumptions.  The first one is a change to something which is called the baseline assumption, and the second is in respect of something called mortality improvement.


Am I right about that?


MR. MAUTI:  That's correct.


MR. STEPHENSON:  And just conceptually, the baseline assumption, as I understand it, is effectively a point-in-time estimate.  And I am not sure what the point in time is, but let's say it is today.  And it's that if you were projecting the mortality of your cohort of members, it would be:  What is their expected lifespan measured as of today?


MR. MAUTI:  I would say it's a point in time, but it is based on a significantly long period of historical experience specific to the plan members at OPG.


MR. STEPHENSON:  Right.  Whatever the knowledge base that feeds into that assumption is, you take all of that knowledge base and then as of a given date, you then look forward and you assume that people on average are going to live X period of time?


MR. MAUTI:  It's our best estimate at this point in time, based on historical experience, yes.


MR. STEPHENSON:  And you are -- the assumption that got embedded, you are going to use OPG-specific data to establish that baseline, or your actuaries have used it; correct?  That is the change that is being made?


MR. MAUTI:  There's a couple of things.  I think the actuaries sort of believe that it is best, if you have a significant enough database and population, to use data specific to a company.  So if you have a large enough employee and retiree base to do this with, it is best to use company-specific data.


So our actuaries were able to use that based on historical review.  I believe it is of several decades' worth of Ontario Hydro, Ontario Power Generation kind of experience, to be able to determine the base mortality table based on company-specific data, yes.


MR. STEPHENSON:  Right.  As I understand it, the recommendation to go to change to that methodology is reflected in the N1 impact statement; correct?  For baseline mortality?


MR. MAUTI:  It is for baseline mortality, as well as a change for improvement, but specifically for baseline mortality, yes, it is.

MR. STEPHENSON:  We will talk about improvement in a minute.


And that -- when you go to the second impact statement, that same methodology is reflected for baseline mortality, correct?


MR. KOGAN:  That's right.  There shouldn't be a change methodologically between those two for the base.


MR. STEPHENSON:  Okay.  Let's move to improvement for a minute.  Conceptually, what that is all about is that -- I suppose this is a good-news story -- that as time progresses it turns out people live longer, and so that if you looked at the life expectancy of me today, it would have a certain number of years.  But if we went five years forward and we took the same person, again, not me, but a person ten years younger than me, their life expectancy would have been ten year -- is longer than mine was.  Correct?  That is what that is talking about, that over time people live longer.  Not an individual, but...


MR. MAUTI:  Yes.  It is the improvement in mortality as a result of multiple of things:  Environment, medical advances, whatever the case may be, healthier eating.  The whole experience is that the improvement of mortality is getting better as you go along.


MR. STEPHENSON:  And the reason why your baseline mortality turns out to be too low -- that's one of the things you figured out -- I take it is because the past estimates of improvements -- of future improvements of mortality -- excuse me.  I am not sure that we're actually improving morality -- turned out to be too low.  That is how your baseline got too low, was that in fact mortality improvements were occurring faster than you were predicting.

MR. KOGAN:  It would be part of it.  Yes, that is a fair statement.


MR. STEPHENSON:  And this is the -- it is this aspect of mortality that there winds up being two different changes made to -- between the pre-filed and N1 and N2, correct?


MR. KOGAN:  Yes.  There was one -- one change made and then one with respect to improvement, and then based on the guidance from the Institute of Actuaries there was a subsequent change in N2.


MR. STEPHENSON:  Okay.  And I am not particularly interested in the actual dollars attached to this, but that -- unless it is very material -- but that -- the mortality improvement change relative between N1 and N2, that one standing alone was not -- didn't generate a material change.  Am I right about that?


MR. KOGAN:  No, I wouldn't necessarily agree with that, no.


MR. STEPHENSON:  Sorry.  Yes, it's a -- I was actually talking about a future mortality improvement, but that was the only number that changed between N1 and N2, right?  On mortality.


MR. KOGAN:  That's right.  That was the change in the mortality from N1 to N2.


MR. STEPHENSON:  Okay.  But we will see that when you update chart 3?


MR. KOGAN:  Yes, you will.


MR. STEPHENSON:  Okay.  Just lastly, Mr. Shepherd was asking you about the actuarial valuation -- this is the Aon Hewitt valuation -- as filed.  And I'm sorry, I have forgotten the -- it has an undertaking number on it.  I can't remember what it is.


MR. MAUTI:  J9.6, I believe.


MR. STEPHENSON:  Okay.  And I know that you're not -- there was an explanation about what the impact, if any, of the filing of this valuation report was vis-à-vis the costs you are seeking to recover.


Maybe you can just help me about this, just a little bit.  I know that -- is it that you're not seeking to recover anything because, as you were discussing with Mr. Shepherd, the valuation calculations that are reflected in this report are doing something quite different than the accounting numbers that you are basing your -- the costs you are seeking to recover in this hearing on?  Is that the main reason, or the only reason?


MR. BARRETT:  It was actually an undertaking given.  We were asked by a member of the Board Panel whether we would be filing another impact statement in respect of the update, and that's J11.9.  And in there we indicate that we were not planning to file another impact statement in respect of this update.


We provide our explanation there, and again, I think in broad terms it fits within the context that we have talked about in terms of OPG's approach to filing applications and trying to maintain a consistent set of information.  We try and minimize the number of in-stream changes to our number.


So in respect of this, the near-term impacts are not material, and the impacts in 2015 are not certain at this point and, in any respect, can be absorbed through the operation of the pension and OPEB variance account.  So that was our proposal.


MR. STEPHENSON:  Okay.  That is helpful.  Those are my questions.  Thank you very much, panel.


MS. HARE:  Thank you.  We're going to take a break now and return at twenty to 4:00.


--- Recess taken at 3:23 p.m.

--- On resuming at 3:43 p.m.

MS. HARE:  Please be seated.


I think, Dr. Schwartz, you're next, or is it Mr. Elson?  Dr. Schwartz?
Cross-Examination by Dr. Schwartz:


DR. SCHWARTZ:  Thank you, Madam Chair.


My name is Larry Schwartz.  I am here on behalf of Energy Probe.  I have, I guess, some conceptual questions related to Exhibit D, tab 1, schedule 1, page 2, at the top.


MR. BARRETT:  Sorry, can you repeat the reference?


DR. SCHWARTZ:  Yes.  Exhibit D3, tab 1, schedule 1, page 2 of 3.  And perhaps the consequential interrogatory by Board Staff, and the response by OPG to Staff Question 29.  I can give the reference, if that is needed.


MR. BARRETT:  I don't think we have that in our materials, so we're going to have to pull it up.


MS. HARE:  Do you have your microphone?


MR. BARRETT:  I'm speaking very softly.  Sorry about that.


So this is an exhibit that deals with the asset services.


DR. SCHARTZ:  With the what, I'm sorry?


MR. MILLAR:  Mr. Barrett, can you turn on and off your mic?  Perhaps it is not picking up.


MR. BARRETT:  This is an exhibit -- that's better -– this is an exhibit that deals with the asset service fees?


DR. SCHWARTZ:  Among -- yes, that is treated in that area.  That is not -- my question is more conceptual than that, but it relates to centrally held assets.


MR. BARRETT:  We will do our best.  This is not our evidence area, but between the three of us we will do our best to respond to your questions.


DR. SCHWARTZ:  Thank you.  I had raised this initially thinking it was to be dealt with under cost of capital, and was advised that this should be -- the questions should be reserved for the panel dealing with financial issues.


MR. BARRETT:  Again, we will do our best, sir.


DR. SCHWARTZ:  Thank you.  I don't think it will be problematic, because it is essentially conceptual.


Your evidence on the page discusses the treatment of centrally held assets and whether they are put into the rate base or they're recovered -- the costs are recovered in the revenue requirement.


And it makes the -- your evidence indicates, for example:

"If the assets cannot be directly assigned because they are utilized by multiple groups, they are held centrally and the regulated businesses are charged a service fee for the use of these assets."


So that is pretty straightforward.


MR. BARRETT:  Yes, I agree with you.


DR. SCHWARTZ:  Yes.  Thank you.


So I take it that means that the centrally held assets don't appear in the regulated rate base on which OPG seeks a return?


MR. BARRETT:  That's correct, sir.


DR. SCHWARTZ:  Thank you.


Now, in respect to the Niagara tunnel project, on which Staff had put their Question 29, you had indicated -- perhaps I should give the reference for that as well.  It is D1, T2, S1 -- well, that's one I gave you, plus the interrogatory in response, LT4.5, schedule 1, Staff 29.


MR. BARRETT:  Yes, we have that.


DR. SCHWARTZ:  Yes.  Here it talks about the allocation of central and administrative costs of the Niagara tunnel project.


So there, in your -- in response to the interrogatory, and also in, I believe, the evidence that I have just mentioned, the distinction between what is put into the rate base or capitalized and what is not appears to be whether the assets can't be -- can or cannot be directly assigned because they are utilized by multiple groups.


So it raises the question as to why some of the indirect OM&A costs are not -- why OPG chooses to put those costs into the revenue requirement, rather than capitalize them into the rate base associated with the Niagara tunnel project.


MR. BARRETT:  So maybe just taking that in part, in terms of this issue of whether an asset should be in rate base or not be in rate base, I think the important distinction is if it is used by both the unregulated and regulated parts of the business, that's the important distinction.  And in that circumstance, it is not in rate base, but the regulated business is charged an amount for the use of that asset.


And in terms of capitalization policy, I think that is better addressed either by Mr. Mauti or Mr. Kogan.


MR. KOGAN:  So I think this same question was asked two or three weeks ago now.  I am trying to remember when I was part of the previous panel and I think we responded that -- or I responded that we use a consistent policy and have used a consistent policy in accordance with GAAP for many years, where we capitalized direct costs, directly attributable incremental costs.


And really, we don't see a reason to change that policy, given that we have applied it consistently.


DR. SCHWARTZ:  Okay.  I wasn't aware that it was an accounting issue that drove the decision, but certainly for indirect OM&A costs associated with Niagara tunnel, it ought to be possible.  I mean, OPG doesn't lack for allocation expertise.


Is there some particular reason, then -- I mean, perhaps is it just too difficult to allocate and that's why you choose not to do it?


MR. KOGAN:  No, I wouldn't say that.  I think, as I said, it starts with the fact that our policy that has been consistently applied is to not capitalize costs that are not direct or incremental.  And we apply that consistent to all of our businesses and all of our projects.


So there is nothing magical about this being with respect to the Niagara tunnel.


And because that is our policy, we do not allocate or track or think of those costs in those terms.  So I am...


DR. SCHWARTZ:  That's fine.  Thank you.


I guess my follow-up question, then, is:  How do you determine the amount of those costs that are not capitalized?  How do you determine how much of them go into the revenue requirement?  I mean, where do the numbers come from?


I mean, for example, let's say computer time used by the Niagara tunnel project, perhaps that doesn't get capitalized into the rate base but is recovered in the revenue requirement.  So how, then, would you determine how much revenue should be recovered in order to pay the computer time costs of the Niagara tunnel project?


MR. KOGAN:  So, again, unless it is a direct and incremental costs, which are what these are and they, you know, represent, effectively all of them represent labour costs, and it's probably a couple of OPG people that were dedicated to the project.


Beyond that, we don't look at:  Well, what are the remaining costs and how much of the stuff we are not capitalizing is attributable to the tunnel?


We say:  Here is my pot of costs for -- attributed to the overall previously regulated hydroelectric facilities, less the amount that I know is direct and it is going to be capitalized, so that less goes into rate base and once it all rolls through and gets approved, all of the rest goes into revenue requirement in the period incurred, obviously on a forecast basis.


So nobody sits there and makes a decision these costs are not capitalized.  It's more, I would say, you make a decision these costs are capitalized because they meet the criteria.


DR. SCHWARTZ:  Okay, then.  Then I guess my final question then is:  Apart from procedures -- which I don't challenge, but is there any advantage to capitalizing certain costs and recovering other costs in the revenue requirement, financial or otherwise?  Or is it...


MR. BARRETT:  Well, I think as a general proposition, utilities like to build rate base, because that is where they earn their returns.  And therefore they want to try to capitalize as many costs as possible.


I think that is the kind of -- the general observation about utilities.


I think in our circumstance, we actually perhaps don't capitalize as much relative to other utilities, because we have taken a slightly different accounting and financial judgment about what's right and appropriate.


DR. SCHWARTZ:  Okay.  Thank you very much.  That is my question, ma'am.


MS. HARE:  Thank you.


Mr. Elson?

Cross-Examination by Mr. Elson:

MR. ELSON:  Thank you, Madam Chair.


Before I start, I am going to be referring to Environmental Defence's cross-examination document book.  It is actually not much of a book; it is only ten or so pages.  Does everyone have that in front of you?


MS. HARE:  We do.  We should give it an exhibit number.


MR. MILLAR:  K12.3, the cross-examination compendium of Environmental Defence for panel 7.

EXHIBIT NO. K12.3:  CROSS-EXAMINATION COMPENDIUM OF ENVIRONMENTAL DEFENCE FOR PANEL 7.

MR. BARRETT:  We have it as well.


MR. ELSON:  Thank you.  And before I get into the specific questions, who of the three of you or which of the three of you would be most familiar with the handover of cost and assets from Ontario Hydro to OPG?


MR. MAUTI:  To the extent possible, that would probably be myself.


MR. ELSON:  And Mr. Mauti, do you have -- did you work for Ontario Hydro?


MR. MAUTI:  Yes, I did.


MR. ELSON:  If I could ask you, Mr. Mauti, then to refer to page 1 of the document book that is Ontario Hydro's final annual report.  On the second page of the document book, which is page 49 of the annual report, you will see a circled number, which is the cost of the hydroelectric generating stations.


You will see that that cost is $2.755 billion, ending March 1999.  Do you see that figure there?


MR. MAUTI:  Yes, I do.


MR. ELSON:  And turning over to page 3, you will see OPG's 2002 annual report.  And on page 4 there is, again, the cost of the hydroelectric generating stations, but here you will see under the column for 2001 that the cost is listed at $7.754 billion.  Do you see that number there?


MR. MAUTI:  Yes, I do.


MR. ELSON:  And so the cost from 1999 to 2001 has increased by about $5 billion.  Is that right?


MR. MAUTI:  I wouldn't typify it as the cost has increased.  There was a change from Ontario Hydro to the inception of all the, I guess the breakup companies from Ontario Hydro, so OPG commenced as of April 1, 1999.


And methodology, I guess, that was employed to assign asset values to the different technology streams was to basically apply what was considered at that time Canadian GAAP purchase accounting.


So in effect, Ontario Power Generation was established with a revaluation of the value of its assets, and it was financed through a combination of debt and equity as of April 1, '99.


You will notice that the nuclear stations went from a $24 billion cost down to a $3 billion cost.  So as part of the revaluation exercise, each of the generating assets was valued on a discounted cash-flow basis to reflect the -- their relative value in relation to the sort of independently determined value of OPG as a whole of approximately 8.5 billion.


MR. ELSON:  Can you explain why, in that process, the value of or the cost of the hydro stations did go up by about 5 billion?


MR. MAUTI:  Simplest terms, the amount of electricity generation and the costs to generate that electricity using expected prices in an open marketplace that was assigned in '99 reflected a relative value of approximately $7.6 billion of free cash flow available to those assets.


MR. ELSON:  Could you describe it as a revaluation of the cost of the stations from the actual cost to, say, a market value?  Would that be a correct characterization of that?


MR. KEIZER:  Madam Chair, I guess I question the relevance of where we're going.  These are 1999 values.  The regulation has been clear with respect to the existing assets, putting aside the newly-regulated hydro assets, that the assets and liabilities of the values would be accepted as part of the regulation, and then the same language is reflected in the new regulation.


So I am not sure why we're going through a line of enquiry as to why values were established and what they were in 1999 relative to some previous value for Ontario Hydro.


We've been through three rate cases now where rate bases and liabilities have been at play.  I am not sure why we're going down this road.


MS. HARE:  Mr. Elson, can you respond to that?


MR. ELSON:  I can.  All I'm trying to get at is the true nature of the costs and the assets to be included in rate case.  We're not contesting that they will be included in rate base, because of course they will be.


But we feel that the true nature of those costs and assets may impact the appropriate rate of return.  It is just a brief set of questions to get to the bottom of what is a $5 billion increase, which we feel is material to this hearing, potentially.


MS. HARE:  We would like you to continue, please.


MR. ELSON:  Thank you.  I believe my question was whether it would be accurate to characterize this as a revaluation of the cost of the stations from the actual cost to a market value.


MR. MAUTI:  Probably best to phrase it as a revaluation from the historical costs that Ontario Hydro had incurred for these facilities to set up for OPG as part of its inception the value and the relative value of these stations at that time.  No different than any company acquiring a set of assets would have to determine a value for them in a relative value.  I mean, you're buying a group of assets.


MR. ELSON:  So would it be correct to characterize it as a move from valuing it based on the historical costs to the market value in comparison to other assets at the time?  Is that fair?


MR. MAUTI:  I'm sorry, can you repeat the question again?


MR. ELSON:  Whether it would be fair to characterize this as a move from a valuation based on the historical costs to a valuation based on the fair market value of the assets in comparison to other assets at the time.


MR. MAUTI:  Well, I think, more importantly, it is the cost to OPG.  The purchase -- this was dealt with as sort of a purchase transaction from Ontario Hydro in assigning that purchase price that is establishing the starting cost basis for OPG.


In looking at the value of those assets, would have been an assessment of the marketplace at approximately 1998/'99 in terms of, you know, cost to operate these facilities, what expected prices may have been.  At the time there was going to be sort of an open, competitive marketplace, and it would have been using the information and the factors at that point to determine the costs that was going to be assigned to these assets for OPG.


MR. ELSON:  So as if it was being purchased by a private party?


MR. MAUTI:  It was effectively dealt with as the equivalent of an arm's length sort of transaction.


MR. ELSON:  I don't understand why you're shying away from characterizing that as a market value re-evaluation.  That seemed to be what you just described to me.


MR. BARRETT:  I guess one of the things we struggle with when we use the words "market value" is this was very much a government-orchestrated financial restructuring, and these purchase valuations were established by the government based on a series of financial analysis that they undertook, and we purchased them at the values that they established.


Is that the same as a market value?  I am not sure that it is.  It certainly has some similarities, but I think we're struggling with going that far, given it was orchestrated by the government almost in its entirety.


MR. ELSON:  Well, perhaps, Mr. Mauti, we could describe it as a valuation that was meant to mimic the market value, roughly speaking?


MR. MAUTI:  I guess you have used different words, but in effect this was a purchase cost transaction, and that is how we recorded the relative values.


MR. ELSON:  Can you explain to me what actual money or assets changed hands with respect to the hydro stations?  You know, what -- who did OPG pay for these hydro stations and how much?


MR. MAUTI:  Given 15 years have passed and I wasn't really involved in that part of it, as I mentioned, we were assigned debt and assumed debt and equity as part of the original establishment of OPG.

Off the top of my head, I can't remember the split in those values, but they were assigned debt from OEFC and the Ministry of Energy as their sole shareholder, so they had share capital of, I think it was, approximately $5 billion.

MR. BARRETT:  I think the way that I like to think about this is there was a package of assets that were owned by the government, and they were sold to OPG in exchange for certain debt and equity amounts as part of this government-orchestrated restructuring process.

MR. ELSON:  So the 7.75, roughly, billion dollars for the hydro stations would have been an exchange for the assets, and then you would have sold debt to purchase those, in essence?  Or take --


MR. BARRETT:  As part of a larger package of asset purchase.  I don't think we purchased the hydro assets on their own, but as part of a purchase of a package of assets that included those assets and other assets.

MR. ELSON:  And with respect to the nuclear assets -- which I will only briefly touch on -- they were sold to you at -- I guess you could say under the historical cost, and then the debt is now being paid off by the OEFC; is that correct?  What has happened to the nuclear debt?

MR. BARRETT:  I don't think there was necessarily a nuclear debt.  Maybe Mr. Keizer wants to say something.


MR. KEIZER:  Well, no, I haven't got an answer for Mr. Elson.  I thought he was going to get to his point with respect to how this ties into the cost of capital, rather than the breakdown of the actual transaction in 1999.

MS. HARE:  I think the way we see it is I'm not sure what Mr. Elson is getting at either, but he has indicated a 20-minute cross.  He has a point to make, so I think we will let him ask his questions.  And I think that either this panel can answer them, or that if they can't answer, they can take undertakings because I don't think this is difficult information to get.  Somebody must have it.

MR. BARRETT:  I can speak to it generally, and perhaps my colleagues on the panel can as well.


So, again, there was a financial restructuring of Ontario Hydro.  There was establishment of successor corporations.  And there was a difference between the debt of Ontario Hydro and the debt of the successor corporations, which was identified as -- I think the term at the time was a "stranded debt."


And the theory was that certain payments, either net income through dividends or payments in lieu of taxes from OPG, Ontario Hydro and other successor companies would defease that stranded debt.


There was also a view that there would be a residual stranded debt which was a subset of that stranded debt amount, and that would be defeased through a debt retirement charge, which the government instituted at the start of their restructuring process.


MR. ELSON:  Thank you.  That answers my question.


Of the $7.754 billion in costs for hydroelectric facilities in 2001, about 5 billion, as we have discussed, was attributable to the revaluation of those assets, which is roughly 65 percent of that cost number.


Would you agree with that calculation, subject to check?

MR. BARRETT:  It seems to be in the ballpark.


MR. ELSON:  And in this proceeding, OPG is proposing to add $2.5 billion to rate base for the newly regulated hydroelectric facilities.


Would it be fair to say that approximately 65 percent of that 2.5 billion is attributable to that revaluation in the cost that occurred in the transfer from Ontario Hydro to OPG?

MR. BARRETT:  I wouldn't accept that.

MR. ELSON:  What would the accurate number be for that?

MR. BARRETT:  I don't know that number.


MR. ELSON:  Can you provide an undertaking to provide that number?

MR. KOGAN:  I am not sure that we could, the reason being that to do this kind of calculation you have to look at all the capital expenditure and service amounts for these assets since the beginning of the company.


And I think what you're asking would involve isolating sort of a net book value for these assets, ignoring those additions.  And I am not sure that -- how feasible that is.

MR. BARRETT:  Given the terms of the regulation, I am not sure of the relevance and how that would compare against the significant work that you would be asking us to undertake.

MR. ELSON:  Well, this is actually my last question.  And this undertaking, I would be happy to have a best-efforts estimate.


MS. HARE:  I was going to suggest that, a best-efforts estimate.

MR. ELSON:  And if there is other ways that you need to break out the numbers and add caveats, that is fine with us.  Just a best-efforts estimate.


MR. KEIZER:  Does best efforts also include the fact that if we cannot provide it, we would explain why we can't provide it?


MS. HARE:  I think that that is included in best efforts.

MR. ELSON:  Thank you.


MS. HARE:  Are those your questions?

MR. ELSON:  Those are our questions, yes.


MR. MILLAR:  The undertaking, Madam Chair, is J12.3.
UNDERTAKING NO. J12.3:  TO MAKE BEST EFFORTS TO IDENTIFY WHAT PERCENTAGE OF THE $2.5 BILLION BEING ADDED TO RATE BASE FOR NEWLY REGULATED HYDRO FACILITIES IS ATTRIBUTABLE TO REVALUATION OF COSTS OF THE TRANSFER FROM ONTARIO HYDRO TO OPG, OR TO PROVIDE A PROXY IF THE NUMBER CAN'T BE PROVIDED.


MS. HARE:  Okay.

MR. MAUTI:  Could I just get some clarity on exactly what the undertaking is, to we make sure we have it clear?


MR. ELSON:  What percentage of the $2.5 billion that is being added to rate base for the newly regulated hydro facilities is attributable to the revaluation in costs that occurred in the transfer from Ontario Hydro to OPG?

And if that number can't be provided, some other proxy for that number.  For example, just explaining to us, you know, exactly how much the bump-up was at the time, or the revaluation.  So if you can't drill down to that specific percentage, if you could explain why you can't and provide an alternative figure to help us get to the -- a ballpark, that would be appreciated.  Thank you.


MR. KEIZER:  If such an alternative exists.

MS. HARE:  That's fine.  Okay.  Thank you.


MR. KEIZER:  Of course.


MS. HARE:  Mr. Millar, Staff is next, although I am not sure that it makes sense for you to start.


MR. MILLAR:  I am in your hands, Madam Chair.


MS. HARE:  I think since you have indicated two hours, it is probably better that we leave it until tomorrow.


And just to give you an idea, then, tomorrow will be Staff and then CME.  And I estimate that then panel 8 will start mid-afternoon.

MR. KEIZER:  That's our expectation as well.


MS. HARE:  Okay.  Good.


MR. KEIZER:  And you had raised the question this morning about undertakings.  People are working --


MS. HARE:  Yes, thank you.


MR. KEIZER:  -- working as we speak to try to get as many answered as possible.  And I think trying to prioritize them, at least to the extent that some parties who may be crossing -- in particular Mr. Elson, who may rely on them as part of the cross, to try to answer those first.


But we filed some, but we're trying to get as many done as we possibly can.


MS. HARE:  Okay.  Thank you.

So we will adjourn until tomorrow at 9:30.

--- Whereupon the hearing adjourned at 4:10 p.m.
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